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Part-A Accounting for Partnership Firms and 
companies

Unit-1 Accounting for Partnership Firms

BASICS OF 
PARTNERSHIP 

	 Partnership : Features, Partnership Deed; Provisions of the Indian  
	Partnership Act, 1932 in the absence of partnership deed. Fixed v/s  
Fluctuating Capital Accounts, Preparation of Profit and Loss appropriation 
Account, division of profits among partners, guarantee of profits.

	 Past adjustments relating to interest on capital, interest on drawings, salary and profit sharing ratio. 
Goodwill : Meaning Nature, factors affecting and methods of valuation—Average Profit, Super Profit and 
Capitalization. Note : Interest on partner's loan is to be treated as a charge against profits. Goodwill to be 
adjusted through partners’ capital/current accounts (AS-26).

   In this chapter you will study    
	 The concept of Partnership, Partnership deed, Provision of Partnership Act 1932 in 

the absence of Partnership deed. Partners' Capital Account, Past adjustments, Concept 
and valuation of Goodwill.

Topic-1

Meaning of Partnership,
Partnership Deed & Partners'
Capital Accounts
Concepts Covered     Meaning of Partnership,   Features/Characteristics of Partnership, 
 Concept and contents of Partnership deed,  Types of Partners,  Method of maintaining 
Capital Accounts of Partners

Revision Notes

	 Meaning of Partnership : According to Indian Partnership Act, 1932, ''Partnership is the relation between persons 
who have agreed to share the profits of a business carried on by all or any of them acting for all.” The Act also 
explains that persons who have entered into partnership with one another are individually called “partners” and 
collectively “a firm.”

	 Characteristics of Partnership :
(i)	 Association of two or more than two persons : It is essential for the Partnership that there 

must be at least two persons who are competent for agreement because less than two persons 
does not establish partnership.

(ii)	 Maximum number of partners : Rule 10 of  Company (Miscellaneous) Rules, 2014 says that 
no association of partnership shall be formed, consisting of more than 50 persons for the 
purpose of carrying on any business.

   Syllabus 
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	 BASIC OF PARTNERSHIP 3
(iii)	 �Existence of an agreement : Partnership is the outcome of an agreement between two or more persons to 

carry on business. This agreement may be oral or in written. The Partnership Act, 1932 (Section 5) clearly states 
that “the relation of partnership arises from contract and not from status.”

(iv)	 �Existence of business : Partnership Act, 1932 [ Section 2(6)] states that a “Business” includes every trade, 
occupation and profession. Business of course, must be lawful and its main object should be to earn profit.

	 Partnership Deed
	 According to Section 5 of the Indian Partnership Act, 1932, Partnership Deed is an agreement between two or 

more than two partners for determining their mutual contractual relationship and its limitation for better and 
effective operation of business. It contains rules and conditions for operation of business. It can be registered or 
unregistered. It should be comprehensive to avoid disputes later on.

	 The document which contains terms of the agreement is called 'Partnership deed'.

	 Contents of Partnership Deed
(i)	 Name and Address of all Partners
(ii)	 Name and address of the Firm 
(iii)	 Nature of the Business
(iv)	 Capital to be contributed by each Partner
(v)	 Rate of Interest on Capital
(vi)	 Drawings allowed to the Partners
(vii)	 Rate of Interest on Drawings
(viii)	 Profit and Loss Sharing Ratio
(ix)	 Partner’s Salary and Commission
(x)	 Method of Valuation of Goodwill
(xi)	 Settlement on Dissolution of Firm
(xii)	 Duration of Partnership
(xiii)	 �Methods of valuation of Assets and Liabilities
(xiv)	 �Lending and Borrowing by the Partners
(xv)	 Admission and Retirement of Partners
(xvi)	 Duties of Partners
(xvii)	 Death of a Partner and his legal representative
(xviii)	 Insurance and its distribution
(xix)	 Relinquishment of Partnership
(xx)	 Arbitration Clause
(xxi)	 Maintenance of Accounts and their Audit
(xxii)	 Settlement of Disputes of the business

(xxiii)	 �Treatment of loss arising out of insolvency of one or more partners
	 Different types of Partners in Partnership Firm are given below :

(i)	 �Active Partner: A person who provides his share in capital and also takes active part in the management of the 
business. The development of business depends upon the active partners.

(ii)	 �Sleeping or Dormant Partners: These partners only provide capital and also share the profits and losses of the 
business. A sleeping partner does not take active part in the management of a firm. These are not known to 
public as partners.

(iii)	 �Silent Partner: A silent partner is known to the public as a partner. He does not participate in the affairs of the 
management. But he is liable to pay debts of the firm.

(iv)	 �Secret Partner: He takes active part in the business but public does not know him as a partner of the firm. He 
is liable to pay all the debts of the firm.

(v)	 �Nominal Partner: These partners do not share the profits and losses of the firm. These partners do not 
participate in the management of a firm. A firm only uses the name and reputation of the partners. So these 
are called nominal partners.

(vi)	 �Minor Partner: A minor may become a partner with the consent of all the partners. A minor is admitted in the 
profits of the business only. He has no liability for losses.

(vii)	�Senior Partner: A person who is playing an important role in the management according to his ability, 
experience and capital is called senior partner.

Fundamental Fact
Partnership Business in India is regulated by 
the India Partnership Act 1932.
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(viii)	 �Junior Partner: A person who has small investment in the firm and has a limited experience of business is 

called junior partner.
(ix)	 �Limited Partner: A partner whose liability is restricted to his share only is called limited partner. He cannot 

take part in the management of a firm.
(x)	 �Unlimited Partner: When the liability of the partner is unlimited, he is called unlimited partner. The debts of 

the firm can be paid even by using the personal property of that partner.
	 Applicable provisions of the Indian Partnership Act, 1932 in the absence of Partnership Deed:

(i)	 �Interest on partner’s loan will be paid @ 6% p.a.

(ii)	 �If deed is silent regarding interest on capital, no interest on capital is to be allowed.

(iii)	 �If deed is silent regarding interest on drawings or charges on drawings by partners, no interest on drawings 

is to be charged.

(iv)	 �If deed is silent regarding salary or remuneration or commission of partners for their services, no salary or 

remuneration or commission is to be allowed to any partner. 

(v)	 If deed is silent regarding profit sharing ratio, profit will be distributed equally.

Example 1
	 Ram and Shyam are partners in a partnership firm. Partnership deed is not present. Some issues arrived 

in their firm due to absence of partnership deed. Help them to resolve the following issues giving proper 
judgement :

(i)	 Shyam has advanced a loan of ` 1,00,000 to the firm and demanding interest @ 12% p.a. on loan but Ram 
is ready to charge interest @ 6% p.a.

(ii) 	Ram is an active partner and manages almost every managing activity. So he is demanding remuneration 
for his work but Shyam is refusing.

(iii)	Shyam wants to charge interest on capital @ 10% p.a. but Ram is refusing for it.

(iv) 	Ram wants to charge interest on drawings @ 12% p.a. but Shyam is refusing.
	Ans.	 (i)	 �Ram is correct in the first issue. In the absence of partnership deed, interest on partner’s loan is allowed  

@ 6% p.a.
	 	 (ii)	�In this issue, Ram will not be paid any remuneration as in the absence of partnership deed, no salary to be 

paid to partner.
	 	 (iii)	�Interest on capital will not be charged in the absence of partnership deed. So Ram is correct.
	 	 (iv) �	Interest on drawings will not be charged in the absence of partnership deed. So Shyam is correct.

	 Methods of Maintaining Capital Accounts of Partners

	 There are two methods by which the capital accounts of partners can be maintained. These are:

(i)	 Fluctuating Capital: When partners decide to maintain only Capital Accounts for each partner, all entries 

regarding Interest on Capital, Interest on Drawings, Salary, Share in Profit or Loss and Drawings will be made 

in the Capital Accounts. In this case, capital will be fluctuating from year to year. This is known as Fluctuating 

Capital.

(ii)	 Fixed Capital: When partners decide that their capitals will remain fixed and it will not change due to Interest 

on Capital, Interest on Drawings, Salary or Share of Profit or Loss and Drawings, it is termed as Fixed Capital. 

In this case, there will be two accounts for each partner: Capital Account and Current Account. Entries for 

Interest on Capital, Interest on Drawings, Salary, Share of 

Profit or Loss and Drawings will be made through Current 

Account. However when there are frequent drawings, a 

separate Drawings Account may be opened for each partner. 

At the end of accounting year, balance of each Partner’s 

Drawings Account will be transferred to their respective 

Current Accounts. 

Fundamental Fact
LLP Stands for Limited Liability Partnership 
in which the liability of all the partners (except 
one partner) is limited.
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	 Proforma of Partner’s Capital Account under Fluctuating Capital Method

Dr.		 Partner’s Capital Account	 Cr.

Date Particulars Amount (`) Date Particulars Amount (`)

To Balance b/d
�(in case of debit opening 
balance)

To Drawings A/c

To Interest on drawings A/c

To Profit & Loss A/c

     (Share in Loss)

To Balance c/d

     (Balancing Figure)

..............

..............

.............

..............

..............

By Balance b/d

�(in case of credit opening 
balance)

By Cash/Bank A/c

     (Additional Capital)

By Interest on Capital A/c

By Commission A/c

By Partner's Salary A/c

By Profit & Loss Appropria-
tion  A/c 
     (Share in Profit)

By Balance c/d
     (Balancing Figure)

..............

..............

..............

..............

..............

..............

..............

.............. ..............

	 Proforma of Partner’s Capital Account under Fixed Capital Method :
Dr.	 Partner's Capital Account	 Cr.

Date Particulars Amount  (`) Date Particulars Amount  (`)

To Cash/Bank A/c

     (Withdrawal of Capital)

To Balance c/d

..............

..............

By Balance b/d

By Cash/Bank A/c

     (�Additional Capital  
Introduced)

..............

..............

.............. ..............

	 Proforma of Partner’s Current Account under Fixed Capital Method :
Dr.	 Partner's Current Account	 Cr.

Date Particulars Amount  (`) Date Particulars Amount  (`)

To Balance b/d
    (if there is old debit balance)
To Drawings A/c
To Interest on Drawings A/c
To  Profit & Loss A/c
      (Share in Loss)
To Balance c/d
    (if credit side total is more)

..............

..............

..............

..............

..............

By Balance b/d 
(if there is old credit balance)

By Interest on Capital A/c
By Salary A/c
By Commission A/c
By Profit & Loss Appropria-
tion A/c

(Share of Profit)
By Balance c/d 
     (if debit side total is more)

..............

..............

..............

..............

..............

..............

.............. ..............

OBJECTIVE  TYPE  QUESTIONS 

A Multiple Choice Questions

	 Q. 1.	The persons who have entered into partnership 
are individually known as : 
(A)	 Partners	 (B)	 Firm
(C)	 Associations 	 (D)	 None of these� R

	 Ans.	Option (A) is correct.
Explanation: Partners are the persons who enter 
into partnership.

	 Q. 2.	A, B, C and D are partners in a firm. They want 
to expand their business for which additional 
capital and more managerial experts are required. 
For this they want to admit more members in their 
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firm. What is the maximum number of additional 
members that can be admitted by them in the firm:
(A)	 02 	 (B)	 50
(C)	 20 	 (D)	 46�

� R  [CBSE Term- I, 2021]
	Ans.	Option (D) is correct.

Explanation: The maximum number of members in 
a Partnership firm can be 50. As there are 4 partners 
already, so a maximum of [(50 – 4) = 46] members 
can be added.

 Q. 3.	The Agreement of Partnership may be :�  U
(A)	 Oral	 (B)	 Written 
(C)	 Both (A) and (B)	 (D)	 None of these�

	 Ans.	Option (C) is correct.
	 Q. 4.	The maximum number of partners allowed in a 

partnership firm are : 
(A)	 50	 (B)	 100
(C)	 200 	 (D)	 400�  R

	 Q. 5.	Which of the  following statements are correct : 
(i)	 The liability of a partner for acts of the firm is 

unlimited.
(ii)	 Private assets of a partner can also be used for 

paying the debts of the firm.
(iii)	Each partner is liable jointly with all other partners 

and also severally to the third parties for all the 
acts of the firm done, while he is a partner.

(iv)	The liability of a partner is limited to the extent 
of his capital contribution

(A)	 Only (iii) 	 (B)	 (i) and (ii)
(C)	 (i), (ii) and (iii) 	 (D)	 (i), (ii), (iii) and (iv)�
� U  [CBSE Term- I, 2021]

	 Ans.	Option (C) is correct.
Explanation: Statement (iv) is incorrect because 
the liability of a partner is not limited to the capital 
contribution unless otherwise mentioned in the 
partnership deed.

	 Q. 6.	The minimum number of partners allowed to open 
a partnership firm are : 
(A)	 10	 (B)	 2
(C)	 5 	 (D)	 20� R

	 Ans.	Option (B) is correct.
	 Q. 7.	Which of the following is the characteristic of a 

partnership firm?
(A)	 Two or more persons are carrying common 

business under an agreement.
(B)	 They are sharing profits and losses in the fixed 

ratio.
(C)	 Business is carried by all or any of them acting 

for all as an agent.
(D)	 All of the above� U

	 Ans.	Option (D) is correct.
	 Q. 8.	Following are essential elements of a partnership 

firm except:
(A)	 At least two persons.
(B)	 There is an agreement between all partners.
(C)	 Equal share of profits and losses.
(D)	 Partnership agreement is for some business.� U

	 Ans.	Option (C) is correct.
Explanation: A partnership firm is an agreement 
between the two or more persons to carry on a 
business, but they not necessarily share equal 
profit or losses unless otherwise provided by the 
partnership deed or in the absence of one. 

	 Q. 9.	According to the Partnership Act, the relation of 
partnership arises from ________ and not from 
status.”
(A)	 Business	 (B)	 Statute
(C)	 Contract	 (D)	 Consideration� U

	 Ans.	Option (C) is correct.
Explanation: There is a contractual relation 
between the partners of the partnership firm under 
the consideration of earning profit and carrying 
out a business.

	Q. 10.	In the absence of Partnership Deed, the profits of a 
firm are divided among the partners :
(A)	 In the ratio of Capital
(B)	 Equally
(C)	 In the ratio of time devoted for the firm’s 

business
(D)	 According to the managerial abilities of the 

partners� R  [CBSE Delhi Set- I, 2015]
	 Ans.	Option (B) is correct.

Explanation: If there is no partnership deed 
the partners share the profit and losses equally 
irrespective of the capital invested by them. 

	Q. 11.	In the absence of Partnership Deed, interest on 
loan of a partner is allowed :
(A)	 at 8% per annum	
(B)	 at 6% per annum
(C)	 no interest is allowed	
(D)	 at 12% per annum�  

� R  [Outside Delhi Set-I, 2015]
	 Ans.	Option (B) is correct.
	Q. 12.	The partner who provides capital and shares profit 

and loss in partnership business but does not take 
active part in the management is known as :�
(A)	 Active Partner	 (B)	 Sleeping Partner 
(C)	 Secret Partner	 (D)	 Limited Partner 

 R
	 Ans.	Option (B) is correct.

		           
Types of Partners

	Q. 13.	The document that contains the terms of 
partnership is called:
(A)	 Partnership Agreement
(B)	 Partnership Contract
(C)	 Partnership Deed
(D)	 Partnership Rules� R  [CBSE Term- I, 2021]

	 Ans.	Option (C) is correct.
Explanation: According to Section 5 of the Indian 
Partnership Act, 1932, Partnership Deed is an 
agreement between the partners determining 
their mutual contracted relationship and its 

Concept Applied 

 These questions are for practice and their solutions are available at the end of the chapter
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limitation for better and effective operation of 
business. It contains rules and  conditions for 
operation of business.

	Q. 14.	When there is no partnership deed, the partners 
are entitled to which of the following?�
(A)	 Salary
(B)	 Profit share in capital ratio
(C)	 Interest on loan
(D)	 Commission�  U

	 Ans.	Option (C) is correct.
Explanation: The salaries, profit sharing ratio, 
commission, etc. are in accordance with the 
partnership deed, but if there is no partnership 
deed the partner receive the interest on loan @6%.

	Q. 15.	Which of the following statements is not true?
(A)	 All partners share profit and losses equally in 

the absence of a partnership deed.
(B)	 A minor can be admitted as a partner, only 

into the benefits of the partnership.
(C)	 A sleeping partner is allowed to sleep during a 

meeting of the partners.
(D)	 None of the above� U

	 Ans.	Option (C) is correct.
	Q. 16.	Pick the odd one out :

(A)	 Interest on capital
(B)	 Interest on drawings
(C)	 Interest on partner’s loan	
(D)	 Salary to partner� U

	 Ans.	Option (C) is correct.
Explanation: Interest on partner's loan is the only 
one allowed in the absence of a partnership deed.

	Q. 17.	When only Partner‘s Capital Account is 
maintained all the adjustments are made in :�
(A)	 Partners’ Capital Accounts
(B)	 Partners’ Current Accounts
(C)	 Cash Account
(D)	 None of the above�  U

	Q. 18.	Partners’ Current Accounts are opened when their 
Capital Accounts are :
(A)	 Fixed 	 (B)	 Fixed and Fluctuating
(C)	 Fluctuating	 (D)	 None of these	�  U

	 Ans.	Option (A) is correct.
Explanation: Partners' Current Account are opened 
when their capital accounts are fixed, so that all the 
items and transactions such as interest on capital, 
drawings etc are adjusted through the Current 
Account and the capital remains fixed.

	Q. 19.	Pick the odd one out :
(A)	 Interest on capital	
(B)	 Salary to partner
(C)	 Commission to partner	
(D)	 Interest on drawings	 C

	 Ans.	Option (D) is correct.
Explanation: Interest on drawings is the only item 
which comes on the debit side of profit and loss 
Appropriation A/c.

	Q. 20.	Fluctuating capital account is credited with :
(A)	 Interest on capital
(B)	 Profit for the year
(C)	 Remuneration of partners
(D)	 All of the above� R

	 Ans.	Option (D) is correct.
Explanation: In case of fluctuating capital account, 
the capital account is credited with all the transactions 
related to the capital of the partners.

	Q. 21.	Where would the interest on capital be recorded 
if the fixed capital account is followed in the 
partnership firm?�
(A)	 Capital Account
(B)	 Current Account
(C)	 Profit and Loss Account	
(D)	 None of the above�  R

	 Ans.	Option (B) is correct.
Explanation: The interest on capital is recorded in 
the current account if the fixed capital account is 
followed as the capital amount do not change.

	Q. 22.	Which of the following will not be recorded in the 
Current Account?
(A)	 Interest in capital
(B)	 Interest on drawings
(C)	 Partner’s Commission
(D)	 Additional capital brought by a partner� R

	 Ans.	Option (D) is correct.
Explanation: Additional capital brought by a 
partner is recorded in the Capital Account of the 
partner even if Current Account is maintained.

	Q. 23.	Where is the Interest on drawings recorded in the 
Current Account?
(A)	 Debit side
(B)	 Credit Side
(C)	 Not recorded	
(D)	 Recorded as a foot note� R

	 Ans.	Option (A) is correct.

B Assertion and Reason 

	 	 Directions: In the following questions, a statement 
of assertion (A) is followed by a statement of 
reason (R). Mark the correct choice as: 

	 (A)	 Both assertion (A) and reason (R) are true and reason 
(R) is the correct explanation of assertion (A).

	 (B)	 Both assertion (A) and reason (R) are true but reason 
(R) is not the correct explanation of assertion (A). 

	 (C)	 Assertion (A) is true but reason (R) is false. 
	 (D)	 Assertion (A) is false but reason (R) is true.

	 Q. 1.	Assertion (A): The development of business 
depends upon the active partners only.

		 Reason (R): Active Partner is a person who provides 
his share in capital and also takes active part in the 
management of the business.� U

	 Ans.	Option (D) is correct.
Explanation: As the active partner takes in the 
part of the management of the business, the 

 These questions are for practice and their solutions are available at the end of the chapter
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development of the business depends on him but 
it is not completely true as all other partners are to 
be consulted for the same.

	 Q. 2.	Assertion (A): Secret Partner participates in the 
affairs of the management.

		 Reason (R): The secret partner is not liable to pay 
debts of the firm.� U

	 Ans.	Option (C) is correct.
Explanation: A secret partner is one who makes a 
capital contribution, to the firm’s business and also 
takes part in the day to day operations actively, but 
his/her presence is kept hidden, from the general 
public.

Q. 3.		 Assertion (A): Nominal partners do not share the 
profits and losses of the firm.

		 Reason (R): A firm only uses the name and 
reputation of the nominal partners.� U

	 Ans.	Option (B) is correct.
Explanation: Nominal partner do not share the 
profits and losses of the firm, as they are not 
actually the partners of the firm. These are titular 
partner, who exist in name only.

	 Q. 4.	Assertion (A): A minor may become a partner with 
the consent of all the partners.

		 Reason (R): A minor partner can share profits and 
losses as per the agreement but is not liable to pay 
the debts of the partnership firm.� U

	Ans.	 Option (B) is correct.
Explanation: A minor can become a partner of the 
firm with the consent of the partners so as to form 
a partnership agreement.

	 Q. 5.	Assertion (A): Co-ownership of property does not 
account to partnership.

	 	Reason (R): The element of business is present in 
co-ownership.� U  [CBSE Term- I, 2021]

	Ans.	 Option (B) is correct.
Explanation: In case of partnership, neither does 
co-ownership of property nor the element of 
business amount to partnership. It is an agreement 
between the partners to enter into a business.

	 Q. 6.	Assertion (A): Partners always share profit and 
losses equally.

		 Reason (R): Partnership is the relation between 
persons who have agreed to share the profits of a 
business carried on by all or any of them acting for 
all.� U

	 Q. 7.	Assertion (A): The fixed capital method is better as 
compared to the fluctuating capital method.

		 Reason (R): The capital of the partners is fixed, 
and all the transactions are recorded in the current 
account.� U

	 Ans.	Option (D) is correct.
Explanation: It cannot be determined which 
method of maintaining capital is better, it depends 
on the preference of the partners.

SUBJECTIVE  TYPE  QUESTIONS 

Short Answer Type
Questions-II 	 (4 marks each)

	 Q. 1.	Ajay, Binod and Chandra entered into partnership 
on 1st April, 2019 with a capital of ̀ 3,00,000, ̀ 2,00,000 
and `1,00,000 respectively. In addition to capital 
Chandra has advanced a loan of `1,00,000. Since 
they had no agreement to guide them, they faced 
following issues during and at the end of the year :

(i)	 Ajay wanted interest on capital to be provided 
@8% p.a. but Binod and Chandra did not agree.

(ii)	 Chandra wanted that interest on loan be paid to 
him @1% p.a. but Ajay and Binod wanted to pay 
@5% p.a.

(iii)	Ajay and Binod demanded to share profits in the 
ratio fo their capital contribution, Chandra is not 
in agreement with this proposal.

(iv)	Binod, being a working partner, demands a lump 
sum payment of ` 40,000 as remuneration for 
which other partners are not in agreement.

	 You are required to suggest and help them 

resolve these issues.� Ap  [CBSE SQP, 2021]

	 Ans.	(i) 	 In the absence of Partnership deed, the 
provisions of Partnership Act, 1932 will apply 
according to which no interest on capital is 
payable.

		 (ii)	 In the absence of Partnership deed, the 
provisions of Partnership Act, 1932 will 
apply according to which interest on loan by 
partner will be paid @ 6% p.a.

	 	(iii)	In the absence of Partnership deed, the 
provisions of Partnership Act, 1932 will apply 
according to which profits will be shared 
equally.

	 	(iv)	In the absence of Partnership deed, the 
provisions of Partnership Act, 1932 will be 
applicable according to which no salary/
remuneration is payable to any partner.

� (1 × 4 = 4)
[CBSE SQP Marking Scheme, 2021]

	 Q. 2.	Identify the type of partner stated below :
(i)	 He does not share profits and losses of the firm 

nor participates in its management. The firm 
uses only his name.

(ii) 	He takes active part in the business but public 
does not know him as a partner of the firm.

(iii)	He does not take active part in the business but 
provides capital and shares the profit and loss of 
the firm.

(iv) 	He provides his share in capital and takes active 
part in the management of the business of the 
firm.�  A

		           
Types of Partners

Concept Applied 

 These questions are for practice and their solutions are available at the end of the chapter
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Topic-2

Preparation of Profit and Loss Appropriation
Account and Treatment of Goodwill
Concepts Covered     Division of profits among partners,   Preparation of profit and 
loss appropriation account,   Calculation of appropriation and charge items,   Adjustment of 
past adjustments,   Guarantee of profit,   Treatment of goodwill

Revision Notes

	 Division of Profits among Partners
	 The net profit as shown by the Profit and Loss Account of a partnership firm requires certain adjustments with 

regard to interest on capitals, interest on drawings, etc., if provided under the terms of agreement. In fact, it is an 
extension of the Profit and Loss Account and is credited with the net profits and interest on drawings and debited 
with interest on capital, salary to partners, etc. The balance (if any) will be distributed among the partners in their 
agreed ratio.

	 Journal Entries regarding Profit and Loss Appropriation Account are as follows :
	 1.	 Transfer of balance of Profit and Loss Account :

		  (a)	� If Profit & Loss Account shows a credit balance (Net Profit) :

			   Profit & Loss A/c			   Dr.

				    To  Profit & Loss Appropriation A/c

			�   (Being transfer of net profit to Profit & Loss Appropriation A/c)

		  (b)	� If Profit & Loss Account shows debit balance (Net Loss) :

			   Profit & Loss Appropriation A/c			   Dr.

				    To Profit & Loss A/c

			�   (Being transfer of net loss to Profit & Loss Appropriation A/c)

	 2.	 Interest on Capitals :

		  (a)	� For crediting interest on capital to Partners’ Capital Accounts :

			   Interest on Capital A/c			   Dr.

				    To Partners’ Capital/Current A/cs

			�   (Being interest on capital at ____% p.a. allowed to partners)

		  (b)	� For transferring interest on capital to Profit and Loss Appropriation Account  :

			   Profit & Loss Appropriation A/c			   Dr.

				    To Interest on Capital A/c

			�   (Being interest on capital transferred to Profit & Loss Appropriation A/c)
	 NET ENTRY :

			   Profit & Loss Appropriation A/c			   Dr.
				    To Partners’ Capital /Current A/cs	
			   (Being Interest on Capital allowed to partners)

	 3.	 Partners’ Salary/Commission :
	 	 (a)	 For crediting salary/commission to Partners’ Capital Accounts :
			   Salary/Commission A/c			   Dr.
				    To Partners’ Capital/Current A/cs
			   (Being `____Salary/Commission allowed to _____ partner for _____months)
		  (b)	 For transferring partners’ salary/commission to Profit and Loss Appropriation Account :
			   Profit and Loss Appropriation A/c			   Dr.
				    To Salary/Commission A/c
			   (Being Salary/Commission transferred to Profit and Loss Appropriation Account)

	NET ENTRY :
			   Profit & Loss Appropriation A/c			   Dr.

				    To Partners’ Capital /Current A/cs
			   (Being Salary/Commission allowed to partners)	

Scan to know 
more about
this topic
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	 4.	 Interest on Drawings :

	 	 (a)	 For charging interest on drawings  :

			   Partners’ Capital/Current A/cs			   Dr.

				    To Interest on Drawings A/c

			   (Being interest on drawings at _____% p.a. charged)

		  (b)	 �For transferring interest on Drawings to Profit & Loss Appropriation Account :

			   Interest on Drawings A/c			   Dr.

				    To Profit & Loss Appropriation A/c

			�   (Being interest on drawings transferred to Profit & Loss Appropriation A/c)

	NET ENTRY :

			   Partners’ Capital/Current A/cs			   Dr.

				    To Profit & Loss Appropriation A/c

			   (Being interest on drawings charged)

	 5.	 Transfer of Profit to Reserve :

		  Profit & Loss Appropriation A/c			   Dr.

			   To Reserve A/c

		  (Being profit transferred to Reserve A/c)

	 6.	 Share in Profit :

		  Profit & Loss Appropriation A/c			   Dr.

			   To Partners’ Capital/Current A/cs

		  (Being distribution of profit among partners)

Proforma of Profit & Loss Appropriation Account
Dr. 	 for the year ending ________________________________	 Cr.

Particulars Amount (`) Particulars Amount (`)

To Partner’s Capital A/c
     (Salaries)
To Partner’s Capital A/c
     (Commission)
To Partner’s Capital A/c 
     (Interest on Capital)
To General Reserve A/c
To Profit transferred to :
     Partners’ Capital/Current A/cs

.........

.........

.........

.........

.........

By Net Profit
      (Profit shown by Profit & Loss A/c)
By Partner’s Capital/Current A/c
      (Interest on Drawings)

.........

.........

......... .........

		  Profit and Loss Appropriation Account is prepared only when there are certain adjustments related to partnership and 
for ascertaining net profits to be distributed among the partners. It determines the individual profits of all partners.

Example 2
	 	On 1.4.2013, Brij and Nandan entered into partnership to construct toilets in government girls schools in 

the remote areas of Uttarakhand. They contributed capitals of ` 10,00,000 and ` 15,00,000 respectively. Their 

profit sharing ratio was 2 : 3 and interest allowed on capitals as provided in the partnership deed was 12% 

per annum. During the year ended 31.3.2014, the firm earned a profit of ` 2,00,000.

		 Prepare Profit and Loss Appropriation A/c of Brij and Nandan for the year ended 31.3.2014.
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Ans.	 In the books of Brij and Nandan
Profit & Loss Appropriation Account

Dr.		 for the year ended 31st March, 2014	 Cr.

Particulars Amount (`) Particulars Amount (`)

To Interest on Capital :
      Brij’s Capital A/c 	 80,000
      Nandan’s Capital A/c    	 1,20,000 2,00,000

By Net Profit b/d 2,00,000

2,00,000 2,00,000

	 	Working Notes :
	 	Interest on capital of Brij = ` 1,20,000 
	 	Interest on capital of Nandan = ` 1,80,000 
	 	Proportionate profit = ` 1,20,000 / ` 3,00,000  ` 2,00,000 = ` 80,000 
	 		                  = ` 1,80,000 / ` 3,00,000  ` 2,00,000 = ` 1,20,000

	 Interest on Capital
	 Interest on Capital will be calculated at the rate as agreed by partners as follows :

		  Interest on Capital = 

Capital Invested  Rate of Interest  Period (months)
100 122

	 From the above formula, interest will be provided for the full year on the capital at the beginning and interest on 
additional capital brought during the year will be calculated from the date of introduction till the end of the year.

	 If in question, closing capital is given instead of opening capital then drawings and share of loss written off will 
be added and additional capital and share of profit will be deducted to find opening balance and on such balance 
interest will  be calculated.

		  Calculation of opening balance of capital :				         `
		  Capital at the end of the year (Closing Capital)		  ----------
		  Add :	 Drawings made during the year				    ----------
		  Share of loss debited for the year	  		  ----------	 ----------
		  Less :	 Additional capital introduced during the year	 	 ----------
		       	 Share of profit credited for the year		  ----------	 ----------
		  Capital at the beginning of the year (Opening capital)		  ----------
	 Note :
	 If percentage of interest on capital is not mentioned in partnership deed, partners will not receive any interest on 

capital. In the case of loss, interest on capital will not be considered. If profit of firm is not sufficient, then interest 
on capital will not be more than the amount of profit. If interest on capital is agreed to be charged on profit then 
full interest on capital will be provided even if there is no sufficient profit or there is loss in the firm. If there is an 
agreement of interest on capital but it is not clear whether it is appropriation of profit or charge of profit then  in 
such case, interest will be provided only when there is profit and it will not be given in case of loss.

	 Interest on Drawings
	 The following methods are used for the calculation of interest on drawings made by partners :

(1)	 Simple Interest Method : In this method, interest is calculated on each amount of drawings 
from the date of drawings till the closing date of accounts and then total of interest is found 
which is calculated on different drawings. Thus, interest is calculated as following :

		  Interest on Drawings =
Drawings Amount  Rate  Time (in months)

100 12
(2)	 Product Method : In this method, period of drawings is calculated in months from the date of drawings to 

the date of closing of the account and thereafter product is found by multiplying number of months with the 
amount of drawings and the total of such product is then multiplied with the rate of interest and is divided by 
100 × 12. The result obtained is the amount of interest. It is calculated as under :

			 
Interest on Drawings =

Total Product  Rate 1
100 12  

(3)	 Average Period Method : This method is used when partner(s) withdraw uniform amounts at uniform time 
intervals.  

	 Case (A). �If the withdrawals are of equal amounts and are made at regular intervals on the monthly basis through-
out the year :

(1)	 When drawings are made in the beginning of every month : 
			   Average period = �(Longest outstanding period+ Shortest outstanding period)/2
			                 =(12+1)/2=6.5 months
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		  Interest on Drawings =
	
Total Drawings 

Rate of Interest
100

6 1
2

12

(2)	 When drawings are made in the middle of every month :
		  	 �Average period = (Longest outstanding period + Shortest outstanding period)/2

			                 =(11.5+0.5)/2= 6 months

		  Interest on Drawings = Total Drawings 
Rate of Interest

100
6

12

(3)	 When drawings are made at the end  of every month :
			�   Average period=(Longest outstanding period + Shortest outstanding period)/2

			                              =(11+0)/2=5.5 months

			   Interest on Drawings = Total Drawings 
Rate of Interest

100

5 1
2

12

	 Case (B). �According to this formula, students will be able to calculate interest on drawings made in 9 months,  
6 months and 3 months:

	 		  If rate of interest on drawings in 12 months	 = 6 

			   Then rate of interest on drawings in 1 month = 
6

12

			   Then rate of interest on drawings in 9 months =
6

12
9

		  Drawings made in the middle of each month= 4.5
		�  If drawings made at the beginning of each month (+ 0.5  in given rate)= 4.5 + 0.5 = 5
		  If drawings made at the end of each month  (– 0.5 in given rate) = 4.5  – 0.5 = 4
	 Just like that, student can calculate each and every rate month wise.
	 NOTE : If percent of interest on drawings is not mentioned in  partnership deed, firm would not charge any inter-

est for drawings of partners.
	 Salary or Commission and Rent paid to a Partner

	 It is to be allowed to a partner if the partnership agreement provides for the same. Salary or commission to a part-
ner is an appropriation out of the profits and not a charge against the profits, i.e., they are to be allowed only if 
there are profits and  hence, must be transferred to the debit of Profit and Loss Appropriation Account and not to 
the debit of Profit and Loss Account. 
(1)	 Commission as a percentage of net profit before charging such commission 

		  = Net Profit before Commission Rate of Commission
100

(2)	 Commission as a percentage of net profit after charging such commission 
		  = �Net Profit after Commission × 100+Rate of Commission
	 Note : Charges such as interest on partners’ loans, manager’s salary and commission must be deducted from profit 

before transferring it to the Profit and Loss Appropriation Account.
	 Rent Paid to a Partner : It is a charge against the profit and not an appropriation out of profits. It is therefore, deb-

ited to Profit and Loss Account and credited to Partner’s Current Account in case of fixed capitals or to Partner’s 
Capital Account, when capitals are fluctuating.

Example 3
	 	Himanshu and Mayank are partners in a partnership firm. They share profits in ratio of 5 : 3.
	 	Himanshu withdrew the following amounts during the year to pay his personal expenses :
	 	 1st May, 2018	 ` 20,000
	 	 2st June, 2018	 ` 10,000
	 	 1st Nov., 2018	 ` 5,000
	 	 1st Dec., 2018	 ` 5,000
	 	Calculate interest on drawings @ 6% p.a. on 31st March, 2019.
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	Ans.		  Calculation of Interest on Drawings 

Date Amount (`) Period (Months) Product (`)

May 1, 2018  
June 1, 2018 
Nov. 1, 2018 
Dec. 1, 2018

20,000
10,000
5,000
5,000

11
10
5
4

2,20,000
1,00,000

25,000
20,000

3,65,000

	 	
Interest on Drawings	 = Total Product × Rate

1

12
 	

	 		  = 3,65,000 × 
6 1

100 12
= ` 1,825	

	 Interest on Partner’s Loan to Firm : The firm pays interest on loan at the rate as mentioned in the deed. But, if the 
partnership deed is silent on this point, the partner is entitled to get interest at the rate of 6% per annum as per 
section 13 (d) of Indian Partnership Act. 

	 Sharing of Profit & Loss
	 Generally, profit or loss of the firm is divided among partners according to the ratio mentioned in partnership 

deed. Distribution of profits made by the firm as per different methods is given below :
(1)	 In a Fixed ratio : The ratio may be in numbers, fractions or in 

percentage, like A, B and C are partners and 

share profit or loss in ratio of 2 : 3 : 5 or 
1
2

3
5

5
6

: : ,
 
etc.

(2)	 In ratio of Capital : If, according to deed, profit and loss is to be divided in the ratio of capital then in such case, 
the deed should mention any one method of determining it out of the following methods :
(a)	 In the ratio of original capital,
(b)	 In the ratio of capital at the beginning of the year,
(c)	 In the ratio of capital at the end of each year,
(d)	 In the ratio of average capital for each year.

(3)	 In equal ratio : If nothing is mentioned in deed about profit sharing ratio then profit and loss will be divided 
equally among all partners, like the profit and loss sharing ratio among A, B, C is  1 : 1 : 1.

(4)	 Division of Profit and Loss in separate ratio : In partnership deed, if profit ratio and loss ratio is agreed 
separately then in such case, profit will be divided in one ratio and loss will be divided in another agreed ratio.

	 Past Adjustments: Sometimes after preparing the accounts of the firm, it is found that mistakes related to interest 
on capital, interest on drawings, salary to partner, etc. are committed or omitted or any amount is wrongly entered. 
Therefore, for the purpose to correcting these omissions or mistakes, adjustment entries are passed through Profit 
and Loss Adjustment Account in which adjustments in respect to each and every omission are to be made. How-
ever, an adjustment entry can also be passed in Journal. 

	 These entries are recorded for the errors made in past. Therefore, they are called Past Adjustments. Following are 
some types of omissions or errors given below :
1.	 Interest on Capital
2.	 Interest on Drawings
3.	 Salary to Partners
4.	 Commission to Partners
5.	 Interest on Capitals or Drawings provided at higher or lower rate

	 Adjustment through Profit & Loss Adjustment Account (Journal Entries for adjustment) :
	 Following journal entries shall be passed through Profit & Loss Adjustment Account :

1.	 Adjusting entries for the items which were to be credited to the 
Partners’ Capital or Current Accounts.

	 Profit & Loss Adjustment A/c	 Dr.
			   To Partners’ Capital/Current A/cs
		  (Being adjustment made for __________ previously omitted, now carried 

out)

2.	 Adjusting entries for the items which were to be debited to the 
Partners’ Capital or Current Accounts.

	 Partners’ Capital /Current A/cs	 Dr.
			   To Profit & Loss Adjustment A/c

		  (Being adjustment made for _____________ previously omitted, now carried out)
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3.	 For the net profit/ loss on account of above adjustments : 

(a)	 In case of profit :
	 Profit & Loss Adjustment A/c	 Dr.

				    To Partners’ Capital /Current A/cs

		  (Being profit on adjustments transferred to partners' capital/current accounts)

(b)	 In case of loss :
	 Partners’ Capital / Current A/cs	 Dr.

				    To Profit & Loss Adjustment A/c

		  (Being loss on adjustment transferred to partners' capital/current accounts)

	 Adjustment without Preparation of Profit & Loss Adjustment Account :
	 In this method, a statement showing the adjustments is made in which all the omissions are to be carried out and 

errors rectified. The net impact of all these adjustments is to be examined and on that basis a single adjusting jour-
nal entry is to be passed.

Adjustment Chart

Particulars A B C

(+) Interest on Capital

(+) Partner's Salary / Commission

(–) Interest on Drawings

	 Excess amount taken back in their P & L sharing ratio

+

+

(–)

+

+

+

(–)

+

+

+

(–)

+
	 Note :

	 Assumed that there are three partners.
	 Assumed that all errors are related to omission.
	 + means Cr. the partner's capital account.
	 – means Dr. the partner's capital account.

Example 4
	  	Monu, Nitin and Paras are partners in a firm. They invested ` 50,000 each as capital three years ago. At that 

time, Paras agreed to look after the business as Monu and Nitin were busy. The profits for the past three 
years were ` 15,000, ` 25,000 and ` 50,000 respectively. While going through the books of accounts; Monu 
noticed that the profits had been distributed in the ratio of 1 : 1 : 2 . When he enquired from Paras about this, 
Paras answered that since he looked after the business he should get more profit. Monu disagreed and it was 
decided to distribute profit equally for the last three years.

		 You are required to make necessary corrections in the books of accounts of Monu, Nitin and Paras by  
passing an adjustment entry.�

Ans. 			  In the Books of Monu, Nitin and Paras
Journal Entry

Date Particulars L.F.
Amount Dr. 

(`)
Amount Cr. 

(`)

Paras’s Capital A/c	 Dr.
To Monu’s Capital A/c
To Nitin’s Capital A/c

(Being profit adjusted)

15,000
7,500
7,500

Working Note :
Statement Showing Adjustment of Profits

Particulars Monu (`) Nitin (`) Paras (`) Total (`)

1.	 Profit wrongly distributed in the ratio 1 : 1 : 2 	 (Dr.) 22,500 22,500 45,000 90,000

2.	 Profit to be shared correctly in the ratio 1 : 1 : 1	 (Cr.) 30,000 30,000 30,000 90,000

	 Adjustment	 7,500 7,500 (15,000) —
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	 Guarantee of Profits: Guarantee is an assurance given to the partner(s) of the firm that at least a fixed amount shall 
be given to him irrespective of the actual earnings. If actual share of profit works out to be less than the guaranteed 
amount in that case, the deficit amount shall be borne either by the firm or by any partner, as the case may be. If 
actual amount of profit works out to be more than the guaranteed amount in that case, he is entitled to receive that 
actual amount. 
(i)	 When Guarantee is given by all the partners in Old Ratio or Specific Ratio :

(a)	 Amount guaranteed to a partner is transferred to Profit and Loss Appropriation A/c.
(b)	 Then the remaining profits are distributed among old partners / remaining partners in 

remaining ratio.
(ii)	 When Guarantee is given by one partner to another partner :

(a)	 Guaranteed amount is calculated according to his share.
(b)	 �Deficiency is distributed among the partners who guaranteed in remaining ratio and subtracted from 

their  respective shares.
(iii)	 When Guarantee is given by a partner to the firm :

(a)	 Deficient amount in guarantee made by a partner is calculated.
(b)	 His Capital  A/c is then debited with the deficient amount and Profit & Loss A/c is credited with the 

deficient amount.
(c)	 �This total of new profit, i.e., original and deficient amount is distributed among all partners in their profit 

and loss sharing ratio.
	 Goodwill: Goodwill is  an intangible asset. It is created due to reputation of the firm and extra earning capacity of 

the firm. A firm having goodwill will earn more than normal profit. The extra earning capacity of the firm may be 
due to location of the business, reputation  of partners or special benefits to the firm.

	 Factors affecting Goodwill of firm :
(i)	 Competent and Capable Management
(ii)	 Favourable Location 
(iii)	 Favourable Contracts

(iv)	 Past Performance of Business
(v)	 Quality of Products
(vi)	 Nature of Business

	 Need for valuation of Goodwill: The need for valuation of Goodwill in partnership arises under the following 
circumstances:
(i)	 On admission of a new partner
(ii)	 On retirement/death of a partner
(iii)	 When there is a change in the profit sharing rate among the partner
(iv)	 If Goodwill is sold at the time of dissolution of the firm.

	 Methods of Valuation of Goodwill :
(i)	 Average Profit Method 
	 Under this method, goodwill is valued on the basis of average profits of past few years. Value of goodwill is 

certain number of years purchased price of average profits. For calculating average profits, profits of previous 
four or five years are considered. Before calculating average profits, past profits may require some adjustments. 
Such adjustments may be of the following nature :
(a)	 Any non-recurring or casual income will be deducted from profit.
(b)	 Any abnormal loss or non-recurring expense will be added back to profit.
(c)	 Profits will be corrected for any mistakes detected at the time of valuation.
(d)	 Average profits of past years will be increased for any expected income in future.
(e)	 Similarly, average profits will be reduced for any expected expense in future.

	 Goodwill = Average Profit × No. of  Years' Purchases
	 Normally simple average profit will be calculated, but in case past profits show a constant increasing or 

decreasing trend, it is better to calculate weighted average.
(ii)	 Super Profit Method
	 Under this method, goodwill is calculated on the basis of annual super profit.  The formula for calculation of 

goodwill is as under :

Goodwill = Annual Super Profit  ×  Number of Years
	 where actual average profit is calculated by average profit method and normal profit is calculated as follows :

	
	 Normal Profit =

 

Average Capital Employed Normal Rate of Return
100

		  Super Profit =  Actual Average Profit  – Normal Profit
	 Note : If amount of normal profit is more than the average profit, then super profit will be zero and so, the 

value of goodwill will also be zero.
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(iii)	 Capitalisation Method
	 Under this method, goodwill is computed by capitalizing profits. Capitalised profit can be computed by the 

following two methods :
(a)	 Capitalisation of Average Profit Method : In this method, Capitalised Value or Normal Capital Employed 

in business is calculated on the basis of average profit, as following :

		  Capitalised Value = 
Actual Average Profit

Normal Rate of Return
100

	 Find out the actual capital employed or net assets and then deduct actual capital employed from 
capitalized value to find the value of goodwill.

(b)	 Capitalisation of Super Profit Method : Under this method, we first calculate the super profits and then 
calculate the capital needed for earning such super profits on the basis of normal rate of return. 

	 This capitalized value is the value of goodwill. The formula is :

Goodwill = Super ofit
Normal ofit of turn

Pr
Pr Re � 100

	 Raising and writing off Goodwill: In the event of reconstitution of partnership, whenever there its increase in 
the profit share of a partner, he should compensate the partner or partners whose share(s) is decreased. This com-
pensation payable by the gaining partner for his gain to the sacrificing partner or partner is known as Goodwill or 
premium for Goodwill. Following entries are passed for raising and writing off Goodwill.

	 When Goodwill Account is raised, if there is a change in the profit sharing ratio!
	 Goodwill A/c 									         Dr.
	 [In old profits sharing ratio]
		  To Partners' capital A/c	

[Being goodwill raised and credited to partners' capital Account in their old profit sharing ratio]
	 When Goodwill Account is written off
		  Partners' capital A/c 								        Dr.

[In new profits sharing ratio] 
To Goodwill Account
[Being goodwill A/c writing off by defecting partners' capital A/c in new profit sharing ratio]

OBJECTIVE  TYPE  QUESTIONS 

A Multiple Choice Questions

	 Q. 1.	Which of the following items is not dealt through 
Profit and Loss Appropriation Account ?�
(A)	 Interest on partner’s loan
(B)	 Partner’s salary
(C)	 Interest on partner’s drawings
(D)	 Partner’s commission� U  [CBSE SQP 2021]

	 Ans.	Option (A) is correct.
Explanation: Interest on partner's loan directly 
comes in the Profit and Loss Account. The partner's 
salary, interest on partner's drawings and partner's 
commission are dealt through the Profit and Loss 
Appropriation Account.

	 Q. 2.	Pick the odd one out :
(A)	 Rent to a partner	
(B)	 Interest on partner’s loan
(C)	 Interest on capital
(D)	 Depreciation� U

	 Ans.	Option (C) is correct.
Explanation: Interest on capital is the only item that 
comes in the Partner's Capital or Current Account.

	 Q. 3.	The Journal Entry to transfer interest on capital to 
Profit and Loss Appropriation Account would be :
(A)	 Interest on Capital A/c	 		�  Dr.

	   To Profit & Loss Appropriation A/c
(B)	 Profit & Loss Appropriation A/c� Dr.
	   To Interest on Capital A/c
(C)	 Profit & Loss A/c� Dr.
	 Partner’s Current A/c� Dr.
	   To Interest on Capital A/c

(D)	 None of the above�  Ap

		           
Adjustment of Appropriate items.

Concept Applied 

	 Q. 4.	Identify the journal entry for transferring interest 
on drawings to the Profit and Loss Appropriation 
A/c.
(A)	 Partners’ Capital/Current A/cs� Dr.
	   To Interest on drawings A/c	
	 (Being interest on drawings transferred to 

Profit & Loss Appropriation A/c)	
(B)	 Interest on Drawings A/c	 		�  Dr.
	   To Partners’ Capital/Current A/cs	
	 (Being interest on drawings transferred to 

Profit & Loss Appropriation A/c)	
(C)	 Interest on Drawings A/c	 		�  Dr.
	   To Profit and Loss Appropriation A/c
	 (Being interest on drawings transferred to 

Profit & Loss Appropriation A/c)	
(D)	 Profit & Loss Appropriation A/c	 � DR.
	   To Interest on Drawings A/c	

 These questions are for practice and their solutions are available at the end of the chapter
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	 (Being interest on drawings transferred to 

Profit & Loss Appropriation A/c)	 Ap
	 Ans.	Option (C) is correct.

Explanation: When the interest on drawings 
is transferred to Profit and loss appropriation 
account, interest on drawings in debited and profit 
and loss appropriation account is credited.

	 Q. 5.	Identify the journal entry for transferring salaries 
paid to the Active Partner A to the Profit and loss 
Appropriation A/c.
(A)	 Profit and Loss Appropriation A/c� Dr.
	   To Salary A/c	
	 (Being Salary transferred to Profit and Loss 

Appropriation Account)	
(B)	 Profit and Loss Appropriation A/c� Dr.
	   To A’s Capital A/c	
	 (Being Salary transferred to Profit and Loss 

Appropriation Account)	
(C)	 A’s Capital A/c� Dr.
	   To Profit and Loss Appropriation A/c
	 (Being interest on drawings transferred to 

Profit & Loss Appropriation A/c)	
(D)	 Salary A/c� Dr.
	   To A’s Capital A/c	
	 (Being interest on drawings transferred to 

Profit & Loss Appropriation A/c)� Ap
	 Ans.	Option (A) is correct.

Explanation: When the salary is transferred to profit 
and loss appropriation account, salary account is 
credited and profit and loss appropriation account 
is debited.

	 Q. 6.	When is the Profit and Loss Appropriation Account 
prepared?
(A)	 When there are certain adjustments related to 

partnership.
(B)	 When the firm is dissolved.
(C)	 When there is an audit to be done.
(D)	 It is never prepared.� U

	 Ans.	Option (A) is correct.
Explanation: The profit and loss appropriation 
account is prepared when there are adjustments to 
be done with related to the partnership due to the 
changes that have occurred.

	 Q. 7.	Vijay and Ratan are partners in a firm. The 
partnership agreement provides for interest on 
drawings @ 12% per annum. Which of the following 
accounts will be debited to transfer interest on 
drawings to Profit and Loss Appropriation Account?
(A)	 Interest on Drawings account
(B)	 Bank account 
(C)	 Partners Current accounts
(D)	 Partners Capital accounts�

� U  [CBSE Term- I, 2021]
	 Ans.	Option (A) is correct.

Explanation: Interest on Drawings account is 
debited to the Profit and Loss Appropriation 
Account. Partners Current Account (in case of 
fixed Capital) or Partners Capital Account (in 
case of flexible capital) is debited with Interest on 
Drawings Account.

	 Q. 8.	A and B were partners in a firm. Their capitals at the end of the year ending on 31.3.2021 were ` 3,00,000 and  
` 1,50,000 respectively. During the year B withdrew ` 10,000, which was debited to his capital account. Profit 
for the year ended 31st March, 2021 was ` 32,000 which was credited to their capital accounts. During the year 
B introduced additional capital ` 32,000. What was B's capital on 1.4.2020?� Ap  [CBSE Term- I, 2021]
(A)	 ` 1,50,000	 (B)	 ` 1,60,000
(C)	 ` 1,12,000	 (D)	 ` 1,52,000

	 Ans.	Option (C) is correct.
Explanation: 

Dr. B's Capital Account Cr.

Date Particulars
Amount 

(Rs.)
Date Particulars

Amount 
(Rs.)

31.3.2021 To Drawings
To Balance c/d

10,000
1,50,000

1.4.2020
31.3.2021

31.3.2021

By Balance b/d (Balancing figure)

By Net Profit 32 000
1
2

, ��
��

�
��

By Bank A/c

1,12,000

16,000

32,000

1,60,000 1,60,000
The profit will be shared equally as the ratio is not mentioned.

	 Q. 9.	Sharma and Verma were partners in a firm. 
The partnership deed provided that interest on 
partners' drawings will be charged @ 12% per 
annum. During the year, Sharma withdrew ̀  6,000. 
Interest on his drawings will be:
(A)	 ` 600 	 (B)	 ` 330
(C)	 ` 360 	 (D)	 ` 720 

Ap  [CBSE Term-I, 2021]
	 Ans.	Option (C) is correct.

Explanation:
 
Interest on drawings = 

6000 12 6
100 12

× ×
×  

                                 = ` 360
	Q. 10.	Sangeet and Suman were partners in a firm 

sharing profits and losses in the ratio of 7 : 3. 
During the year ended 31.3.2021, the firm earned 
a profit of ` 1,00,000. After preparation of the 
financial statements it was discovered that salary 
to Suman @ ` 3,000 per month had been omitted. 

 These questions are for practice and their solutions are available at the end of the chapter
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The necessary adjustment entry for the same will 
be:

		  	       Dr. (`)     Cr. (`)
(A)	 Profit and Loss  

Appropriation A/c      Dr.  36,000
	   To Suman's Capital A/c� 36,000
(B)	 Sangeet's Capital A/c   Dr.  36,000
	   To Suman's Capital A/c� 36,000
(C)	 Profit and Loss  

Adjustment A/c              Dr.  36,000
	   To Suman's Capital A/c� 36,000
(D)	 Sangeet's Capital A/c     Dr.  25,200
	   To Suman's Capital A/c� 25,200

Ap  [CBSE Term- I, 2021]
	 Ans.	Option (D) is correct.

Explanation: 
    Total salary = ` 3,000 × 12 = ` 36,000
                          Amount of Profit= ` 1,00,000
 Amount of Profit to be credited= ` 64,000

Share of Profit of Sangeet = 
7
10

64 000× ,
 
= 44,800

Amount of profit received by Sangeet before = 
70,000
Amount Received less	= 70,000 – 44,800 = ` 25,200

	Q. 11.	Pick the odd one out :
(A)	 Rent to Partner	
(B)	 Manager’s Commission
(C)	 Interest on Partner’s Loan	
(D)	 Interest on Partner’s Capital	  

 C  [CBSE SQP 2021]
	Q. 12.	Mohit and Rohit were partners in a firm with 

capitals of ` 80,000 and ` 40,000 respectively. The 
firm earned a profit of ` 30,000 during the year. 
Mohit’s share in the profit will be :
(A)	 ` 20,000	 (B)	 ` 10,000	
(C)	 ` 15,000	 (D)	 ` 18,000

� Ap  [CBSE Delhi Set-I, II, III, 2020] 
	 Ans.	Option (C) is correct.

Explanation: As there is no partnership deed, the 
profit will be shared equally, that is ` 15,000 each.

	Q. 13.	Rahul and Shubham are partners in a partnership. 
Rahul withdrew ` 4,000 during the year as 
drawings. Interest on drawings is charged @ 15% 
p.a. The amount of interest on drawings at the end 
of the year will be :
(A)	 ` 300	 (B)	 ` 600

(C)	 ` 1,200	 (D)	 ` 150� Ap
	 Ans.	Option (A) is correct.

Explanation: ` 4000 × 15% × ½ = ` 300
	Q. 14.	Ramesh and Suresh are partners in the ratio of 3 : 2.  

Before profit distribution, ‘Ramesh is entitled to 
5% commission of the net profit (after charging 
such commission). Before charging commission, 
firm’s profit was `84,000. Suresh’s share in profit 
will be :

(A)	 ` 32,000	 (B)	 `48,000

(C)	 ` 56,000	 (D)	 ` 32,800� Ap
	 Ans.	Option (A) is correct.

Explanation: Profit after charging commission=  

− ×










84,000 84,000
5

105

                            =84,000 - 4000
                                                         =` 80,000

        Suresh’s share in profit= ` 80,000×
2
5

                                                 = ` 32,000
	Q. 15.	Abin, Babin and Chavi are partners in the ratio of  

5 : 3 : 2. Before Babin’s salary of `34,000 firm’s 
profit is `1,84,000. How much in total Babin will 
receive from the firm?
(A)	 ` 55,200	 (B)	 ` 79,000
(C)	 ` 89,200	 (D)	 ` 45,000� Ap

	 Ans.	Option (B) is correct.
Explanation:     Profit = ` 1,84,000 – ` 34,000 
                      = ` 1,50,000

Babin’s Share of Profit = 
3

10
 × ` 1,50,000

                    = `45,000
Babin gets            = ` 45,000 + ` 34,000 
                    = ` 79,000

	Q. 16.	What will be the interest on drawing @12.5% p.a. 
for Abhishek if he withdraws ` 5,000 once in a 
month?
(A)	 ` 3,500	 (B)	 ` 7,500
(C)	 ` 3,750	 (D)	 ` 3,000� Ap

	 Ans.	Option (C) is correct.

Explanation: 
5 000 12 12 5 6

100 12
, .´ ´ ´

´
= ` 3,750

	Q. 17.	What will be the interest on capital for C @ 6%p.a 
for A, B and C who have invested `15,000, `25,000 
and `30,000 and share profits in the ratio 1:2:3?
(A)	 ` 900	 (B)	 ` 1,500
(C)	 ` 1,800	 (D)	 Nil� Ap

	 Ans.	Option (C) is correct.
Explanation: 6% of 30,000 = ` 1,800

	Q. 18.	Rani and Sumi are partners in the ratio of 1 : 2. 
Before profit distribution, ‘Rani is entitled to 5% 
commission of the net profit (before charging such 
commission). Before charging commission, firm’s 
profit was ` 60,000. Sumi’s share in profit will be :
(A)	 ` 38,000	 (B)	 ` 19,000
(C)	 ` 20,000	 (D)	 ` 40,000� Ap

	 Ans.	Option (A) is correct.

Explanation: ` 60,000 × 
5

100
 = ` 3,000

Profit after commission  = ` 60,000 – ` 3,000 
                       = ` 57,000

Sumi’s Share of profit   = `57,000 × 
2
3

                       =`38,000

 These questions are for practice and their solutions are available at the end of the chapter
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	Q. 19.	Journal Entry to be passed in case of loss on 

adjustment transferred to Partner’s Current 
Accounts is :
(A)	 Profit and Loss Appropriation A/c	 	 Dr.
	        To Partners’ Current A/cs
(B) 	Partners’ Current A/cs	 			  Dr.
	        To Profit and Loss Adjustment A/c
(C) 	Partner’s Current A/c	 			  Dr.
	        To Partner’s Capital A/c
(D) 	None of the above� Ap

	 Ans.	Option (B) is correct.
	Q. 20.	Which account is prepared when past adjustments 

are to be done?
(A)	 Profit and Loss Appropriation Account
(B)	 Profit and Loss Adjustment Account
(C)	 Both (A) and (B)
(D)	 Neither (A) nor (B)� U

	 Ans.	Option (B) is correct.
Explanation: Profit and Loss Adjustment Account 
is prepared when the past adjustments are to be 
done. Profit and Loss Appropriation Account is 
made to make any transactions of the partners that 
affects the profit to be shared.

	Q. 21.	If the interest on capital is omitted what will be the 
journal entry during the situation?
(A)	 Profit & Loss Adjustment A/c	 	 Dr.
	        To Partners’ Capital/Current A/cs	
	 (Being adjustment made for interest on capital 

previously omitted, now carried out)	
(B)	 Profit & Loss A/c 	 	 			  Dr.
	        To Partners’ Capital/Current A/cs	
	 (Being adjustment made for interest on capital 

previously omitted, now carried out)	
(C)	 Partners’ Capital/Current A/cs	 	 Dr.
	        To Profit and Loss Appropriation A/c	
	 (Being adjustment made for interest on capital 

previously omitted, now carried out)	
(D)	 Profit and Loss Appropriations A/c		 Dr.
	        To Profit and Loss A/c	
	 (Being adjustment made for interest on capital 

previously omitted, now carried out)� Ap
	 Ans.	Option (A) is correct.
	Q. 22.	If the interest on drawings is omitted to be 

recorded what will be the journal entry?
(A)	 Profit & Loss Adjustment A/c	 	 Dr.
	       To Partners’ Capital/Current A/cs	
	 (Being adjustment made for interest on drawings 

previously omitted, now carried out)
(B)	 Profit & Loss A/c 	 	 			  Dr.
	       To Partners’ Capital/Current A/cs	
	 (Being adjustment made for interest on drawings 

previously omitted, now carried out)
(C)	 Partners’ Capital/Current A/cs	 	 Dr.
	       To Profit and Loss Adjustment A/c	
	 (Being adjustment made for interest on drawings 

previously omitted, now carried out)
(D)	 Profit and Loss Appropriations A/c		 Dr.
	       To Profit and Loss A/c
	 (Being adjustment made for interest on drawings 

previously omitted, now carried out) � Ap
	 Ans.	Option (C) is correct.

	Q. 23.	How is the interest on capital treated in the Profit 
and Loss Adjustment statement?
(A)	 Added	 (B)	 Subtracted
(C)	 No Effect	 (D)	 Not shown� U

	 Ans.	Option (A) is correct.
	Q. 24.	E, F and G are partners sharing profits in the ratio 

of 3 : 3 : 2. As per the partnership agreement, G 
is to get a minimum amount of ` 80,000 as his 
share of profits every year and any deficiency on 
this account is to be personally borne by E. The 
net profit for the year ended 31st March, 2020 
amounted to ` 3,12,000. What will be the amount 
of deficiency to be borne by E ?
(A)	 ` 1,000	 (B)	 ` 4,000
(C)	 ` 8,000	 (D)	 ` 2,000

A  [CBSE SQP 2021]
	 Ans.	Option (D) is correct.

Explanation:           G's Share = 
2
8

 × ̀ 3,12,000 = ̀  78,000

Deficient Amount to be borne by E 
                                               = ` 80,000 – ` 78,000 
                         = ` 2,000

		           
Guarantee of profits

Concept Applied 

	Q. 25.	Guarantee of profit to a partner is given by :
(A)	 Only one partner of the firm
(B)	 Only two partners of the firm
(C)	 All the partners of the firm
(D)	 All of the above� R

	 Ans.	Option (D) is correct.
Explanation: Guarantee of profit to a partner 
is given by one or more partner to one or more 
partner or the firm. The guaranteed amount is 
even paid in case of loss.

	Q. 26.	Ram, Shyam and Balweer are partners. They share 
profit and loss equally. Ram is guaranteed to get  
` 30,000 profit. Any deficiency if arises, will be borne 
by Shyam. During the year, they earned a profit of  
` 60,000. Which of the following statement/
statements is/are correct as per the above 
information?
(A)	 Shyam will get ` 10,000 as profit.
(B)	 Balweer will get ` 20,000 as profit.
(C)	 Ram will get ` 30,000 as profit.
(D)	 All of the above� Ap

	 Ans.	Option (D) is correct.
Explanation: Ram's Share = 1

3
 × ` 60,000 

                        = ` 20,000
Deficient Amount to be borne by Shyam 
                        = ` 30,000 – ` 20,000 
                        = ` 10,000
                        Ram's Share = ` 30,000
                   Shyam's Share  = ` 30,000 – ` 10,000 
                        = ` 20,000
                  Balweer's Share = ` 20,000

	Q. 27.	When the profits are guaranteed by the partners on 
the old profit sharing ratio, which of the following 
is not true?
(A)	 Amount guaranteed to a partner is transferred 

to Profit and Loss Appropriation A/c.
(B)	 Then the remaining profits are distributed 

among old partners / remaining partners in 
remaining ratio.
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(C)	 Guaranteed amount is calculated according to 

his share.
(D)	 All of the above� U

	 Ans.	Option (C) is correct.
	Q. 28.	Rehana, Shakina and Jasmine are partners. They 

share profit and loss in the ratio 1:2:3. Shakina is 
guaranteed to get `50,000 profit. Any deficiency 
if arises, will be borne by Rehana and Jasmine 
equally. During the year, they earned a profit of 
`6,00,000. How much money has to be given to her 
by Rehana and Jasmine?
(A)	 `2,000 by Rehana and Jasmine each
(B)	 `2,500 by Rehana and Jasmine each
(C)	 `3,000 by Rehana and Jasmine each

(D)	 Nil� Ap
	 Ans.	Option (D) is correct.

Explanation: Shakina’s share = `6,00,000 × 2
6

= `2,00,000, as she gets the share more than the 

guaranteed, she will not be reimbursed.

	Q. 29.	Tangible Assets of the firm are ` 14,00,000 and 
outside liabilities are ` 4,00,000. Profit of the firm 
is ` 1,50,000 and normal rate of return is 10%. The 
amount of capital employed will be :�
(A)	 ` 10,00,000	 (B)	 ` 1,00,000
(C)	 ` 50,000	 (D)	 ` 20,000�

� Ap  [CBSE OD Set-I, II, III, 2020]
	 Ans.	Option (A) is correct.

Explanation: Capital Employed = Tangible Assets 
– Outside Liabilities = `14,00,000 – `4,00,000  
= `10,00,000

	Q. 30.	Goodwill is a/an ___________ asset.�
(A)	 Tangible	 (B)	 Intangible
(C)	 Not an asset	 (D)	 None of these� R

	 Ans.	Option (B) is correct.
Explanation: Goodwill is an intangible asset as we 
cannot touch it.

	Q. 31.	Which of the following factors do not affect the 
goodwill of the firm?
(A)	 Competent and capable management
(B)	 Favourable location
(C)	 Favourable contracts
(D)	 None of these� U

	 Ans.	Option (D) is correct.
	Q. 32.	A business earned average profits of ` 60,000 

during the last three years. The normal rate of 
return on similar business is 12%. The value of net 
assets of the business is ` 4,00,000. Its goodwill by 
capitalisation of Average Profits Method will be
(A)	 ` 1,00,000	 (B)	 ` 2,00,000

(C)	 ` 4,00,000 	 (D)	 ` 50,000� Ap
 [CBSE SQP 2021]

	 Ans.	Option (A) is correct.
Explanation: 

Capitalised Value =
 

Actual Average Profit  100
Normal Rate of Return  

                = 
60 000 100

12
, ×

 
= ` 5,00,000

        Goodwill = Capitalised Value –  Assets
                 = ` 5,00,000 – ` 4,00,000 
                 = ` 1,00,000

		           
Valuation of Goodwill

Concept Applied 

	Q. 33.	Which of the following is/are a need for valuation 
of Goodwill?
(A)	 Change in profit Sharing among existing 

partners
(B)	 Admission of a new partner
(C)	 Retirement/ death partner
(D)	 All of these� U

	 Ans.	Option (D) is correct.
	Q. 34.	When Goodwill is raised which account is debited?

(A)	 Revaluation A/c	 (B)	 Goodwill A/c
(C)	 Partners' Capital A/c	(D)	 None of these� R

	 Ans.	Option (B) is correct.
Explanation: Following entry is passed to raise 
Goodwill.
Goodwill A/c	 Dr.
  To Partners' capital A/c
(Being goodwill raised credited to Partners' capital 
Account in old profit sharing ratio.)

B Assertion and Reason 

	 	 Directions: In the following questions, a statement 
of assertion (A) is followed by a statement of 
reason (R). Mark the correct choice as: 

	 (a)	 Both assertion (A) and reason (R) are true and 
reason (R) is the correct explanation of assertion 
(A).

	 (b)	 Both assertion (A) and reason (R) are true but reason 
(R) is not the correct explanation of assertion (A). 

	 (c)	 Assertion (A) is true but reason (R) is false. 
	 (d)	 Assertion (A) is false but reason (R) is true.

	 Q. 1.	Assertion (A): Goodwill is an intangible asset.
		 Reason (R): It is the value of the reputation of a firm 

in respect of the profits expected in future over and 
above the normal profits.� U  [CBSE Term I, 2021]

	 Ans.	Option (A) is correct.
Explanation: Goodwill is an intangible asset as it 
cannot be touched and is calculated as the value 
of the reputation of the firm with respect to the 
profits earned.

	 Q. 2.	Assertion (A): Profit and Loss Appropriation Account 
shows the correct profit earned by the firm.

		 Reason (R): The net profit is adjusted after taking 
into account the interest on capital, interest on 
drawings, salaries/commissions paid to the partner 
in the Profit and Loss Appropriation Account.� U

	 Ans.	Option (A) is correct.
Explanation: The profit and loss appropriation 
account shows all the other items that needs to 
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be taken into account to be distributed among the 
partners to find the correct profit of the firm.

	 Q. 3.	Assertion (A): If percentage of interest on capital is 
not mentioned in partnership deed, partners will 
not receive any interest on capital.

		 Reason (R): The interest on capital is charged on 
the capital invested by the partners.�  U

	 Q. 4.	Assertion (A): When the items are omitted it is 
necessary to prepare Profit and Loss Adjustment 
Account only.

		 Reason (R): For the purpose of correcting these 
omissions or mistakes, adjustment entries are 
passed through Profit and Loss Adjustment Account 
in which adjustments in respect of each and every 
omission are to be made.� U

	 Ans.	Option (D) is correct.
Explanation: When the items are omitted, profit 
and Loss Adjustment Statement or necessary 
journal entries can be passed when Profit and Loss 
Adjustment Account is prepared.

	 Q. 5.	Assertion (A): The Profit and Loss Appropriation 
Account is an extension of the Profit and Loss 
Account.

		 Reason (R): Profit and Loss Appropriation Account 
starts with the Net Profit as found in the Profit and 
Loss Account.� U

	 Ans.	Option (A) is correct.
	 Q. 6.	Assertion (A): Profit and Loss Appropriation 

Account is only prepared when there are certain 
adjustments related to partnership.

		 Reason (R): Profit and Loss Appropriation Account 
is prepared to ascertain the profit earned by the 
firm and distribution among the partners.� U

	Ans.	 Option (B) is correct.
Explanation: Whenever there is an adjustment 
relating to the partnership, Profit and Loss 
Appropriation Account is made to ascertain and 
divide the profit among the partners.

	 Q. 7.	Assertion (A): If percentage of interest on drawings 
is not mentioned in partnership deed, firm would 
not charge any interest on drawings of partners.

		 Reason (R): Interest on drawings is charged only 
when there is profit.� U

	 Ans.	Option (C) is correct.
Explanation: Interest on drawings is charged even 
when there is a loss.

	 Q. 8.	Assertion (A): Partner needs to pay the interest on 
loan at 6% even if not mentioned in the partnership 
deed.

		 Reason (R): Interest on loan to partners is charged as 
per the section 13 (d) of the Indian Partnership Act.�U

	Ans.	 Option (B) is correct.
Explanation: As per the section 13(d) of the 
Partnership Act, the interest on the loan is to be 
charged at 6% even if it is not mentioned in the 
partnership deed.

	 Q. 9.	Assertion (A): Interest on capital amount to `15,000 
was shown on the credit side of the Profit and Loss 
Adjustment Account.

		 Reason (R): Interest on Capital is to be credited to 
the Capital/Current Accounts of the Partner.� Ap

	 Ans.	Option (D) is correct.
Explanation: Interest on capital is shown on the 
debit side of the Profit and Loss Adjustment 
Account.

	Q. 10.	Assertion (A): The interest on drawings omitted 
is shown on the credit side of the Profit and Loss 
Adjustment Account.

		 Reason (R): Profit and Loss Adjustment Account is 
prepared when there is an omission of items.� U

	Ans.	 Option (B) is correct.
Explanation: The interest on drawings omitted is 
either shown on the credit side of Profit and Loss 
Adjustment account or statement or a necessary 
journal entry can be passed.

	Q. 11.	Assertion (A): Sandhya and Manoj entered into a 
partnership in the profit sharing ratio 1:2. Manoj 
agreed to pay Sandhya if her share of profit fall 
short of `50,000. The profit earned was `1,77,000. 
Sandhya asked him to pay `27,000, but Manoj 
refused to pay anything.

		 Reason (R): Profit is guaranteed only when the 
minimum amount of profit is not earned by the 
partner.� Ap

	 Ans.	Option (A) is correct.
Explanation: As the profit share of Sandhya is 
77,000, which is more than the guaranteed amount, 
so Manoj did not have to pay her.

	Q. 12.	Assertion (A): The profit is guaranteed only to a 
partner.

		 Reason (R): The guaranteed profit is to be paid 
by the other partner in the specific ratio as agreed 
upon to the partner who has been agreed to be paid 
if the profit fall short.� Ap

	 Ans.	Option (D) is correct.
Explanation: The profit is guaranteed to a partner, 
few partners or even to the firm.

	Q. 13.	Assertion (A): Guaranteed amount is even paid 
when the firm suffers a loss.

		 Reason (R): If a partner or partners guarantees a 
certain amount of profit, it needs to be paid at all 
costs.� Ap

	Ans.	 Option (A) is correct.
	Q. 14.	Assertion (A): Goodwill of the firm is affected by 

the reputation of the firm.
		 Reason (R): The goodwill of the firm is dependent 

on the management capacity of the firm.� U
	 Ans.	Option (B) is correct.

Explanation: Goodwill of the firm is affected by the 
reputation of the firm as the firm will be able to 
earn more profit if its reputation is good.

 These questions are for practice and their solutions are available at the end of the chapter
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SUBJECTIVE  TYPE  QUESTIONS 

Short Answer Type Questions-I � (3 marks each)

	 Q. 1.	On 1.4.2013, Jay and Vijay entered into partnership  for supplying laboratory equipment to government school 
situated in remote and backward areas. They contributed capitals of ` 80,000 and ` 50,000 respectively and 
agreed to share the profits in the ratio of 3 : 2. The partnership deed provided that Interest on Capital  shall be 
allowed at 9% per annum. During the year, the firm earned a profit of ` 7,800.

		 Showing your calculations clearly, prepare Profit and Loss Appropriation A/c of Jay and Vijay for the year 
ended 31.3.2014.�  A  [CBSE Delhi Set I, II, III, 2015]

	Q. 2.	 Ramesh and Suresh are partners sharing profits and losses in the ratio of 2 : 3 with fixed capitals of ` 3,00,000 
and ` 4,50,000 respectively. The opening balance in current accounts of Ramesh is ` 1,00,000 (Cr.) and Suresh  
` 50,000 (Dr.). Show distribution of profits/losses for the year ended 31st March, 2019 by preparing Profit and 
Loss Appropriation Account if the partnership deed allows interest on capital and also charges interest on 
current account @ 5% p.a. The profit is ` 90,000.	 �  E

	Ans.	 Dr.	 	 Profit and Loss Appropriation Account	 Cr.

Particulars Amount (`) Particulars Amount (`)

To Interest on capitals : By Profit and Loss A/c 90,000

	 Ramesh's Current A/c 	 15,000 	 (profit for the year)

	 Suresh's Current A/c 	  22,500 37,500 By Interest on Current A/c :

To Interest on Current A/c :
	 Ramesh's Current A/c 

 
5,000

	 Suresh's Current A/c 2,500

To Profits transferred to Current A/c  :

	 Ramesh's Current A/c 	 20,000

	 Suresh's Current A/c	  30,000 50,000

92,500 92,500

	 3
	 Q. 3.	Raman and Nath are partners doing a dry cleaning business in Lucknow, sharing profits in the ratio 2 : 1 with 

capitals ` 5,00,000 and ` 4,00,000 respectively.
		 Raman withdrew the following amounts during the year to pay the hostel expenses of her son :
	 	 	 	 `
	 	 1st April	 10,000
	 	 1st June	 9,000
	 	 1st November	 14,000
	 	 1st December	 5,000

	Nath withdrew ` 15,000 on the first day of April, July, October and January to pay rent for the accommodation 
of his family. He also paid ` 20,000 per month as rent for the office of partnership which was in a nearby 
shopping complex.	 		

Calculate Interest on Drawings @ 6% p.a. on 31st March, 2015.	 Ap  
	 Ans.	Calculation of Interest on Drawings of Raman :  

Date Amount (`) Periods (Months) Product (`)

April 1
June 1
November 1
December 1

10,000
9,000

14,000
5,000

12
10
5
4

1,20,000
90,000
70,000
20,000

38,000 3,00,000

	 		  	 Interest on Drawings	 =	 Total of Products  × 
Rate of Interest

100
1

12 	

	 		  	 	
=	 ` 3,00,000  × 6

100  
×

 
1

12  
= ` 1,500

 These questions are for practice and their solutions are available at the end of the chapter



	 BASIC OF PARTNERSHIP 23
	 	 Nath withdrew a fixed amount on first day of April, July, October and January. We calculate average period for 

quarterly drawings of a year by this formulae :

	 		  	 Average Period	 =	
12 Months + 3 Months

2
 = 7.5 Months

	 		  	 Interest on Drawings	 =	 ` 60,000  
6

100
7 5
12
.

 = ` 2,250	 3

		           
Calculation of appropriate items

Concept Applied 

	 Q. 4.		Abhay, Bheem and Chunnu are partners in a firm. They had omitted Interest on Capital @ 10% p.a. for three 
years ended 31st March, 2019. Their fixed capitals on which interest was to be calculated were :

	 	A 	  	 ` 1,00,000
	 	B 	  	 ` 80,000
	 	C 	  	 ` 70,000

		 Give the necessary adjusting journal entry and show your working notes clearly.		�   Ap
Ans.			   In the books of Abhay, Bheem and Chunnu
			  Journal Entries

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

2019
March  31

Bheem's Current A/c	 Dr.

Chunnu’s Current A/c	 Dr.

To Abhay’s Current A/c

(Being omission of Interest on Capital for three years 
rectified)

1,000

4,000

5,000

� 1
	 	 Working Notes :

	 Statement Showing Adjustment to be made

Particulars Abhay (`) Bheem (`) Chunnu (`) Total (`)

Total amount of Interest on Capital omitted to be 
credited now

 
30,000

 
24,000

 
21,000

 
75,000

Total amount of profit already credited, to be debited 
now

 
25,000

 
25,000

 
25,000

 
75,000

Net effect  (Cr.) 5,000 (Dr.) 1,000 (Dr.) 4,000 —

	 	 Note : Profit divided in the ratio of 1:1:1� 2

	 Q. 5. 	Following is the Profit and Loss Appropriation Account of a firm in which A, B and C are equal partners.�
Profit and Loss Appropriation Account

           Dr.                                                         for the year ended 31st March, 2019                                                                    Cr. 

Particulars Amount (`) Particulars Amount (`)

To Profits transferred to : By Profit & Loss A/c (Net Profit)  3,00,000

	 A’s capital A/c 	 1,00,000 	

	 B‘s capital A/c 	 1,00,000

	 C’s capital A/c 	   1,00,000  3,00,000

 3,00,000  3,00,000

	 	After preparing the final accounts, it was known that interest on capital amounting to A ` 12,000, B 9,600 
and C ` 10,500 was not allowed and also interest was not charged on drawings of A and B amounting to  
A ` 1,200 and B ` 900.

	 	Pass an adjustment entry to rectify the given adjustment.	  Ap

 These questions are for practice and their solutions are available at the end of the chapter
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	 Q. 6.	Vikas and Vivek were partners in firm sharing profits in the ratio of 3 : 2. On 1.4.2014, they admitted 

Vandana as a new partner for 
1
8

th share in the profits with a guaranteed profit of ` 1,50,000. The new profit 

sharing ratio between Vivek and Vikas will remain the same but they decided to bear any deficiency on 
account of guarantee to Vandana in the ratio 2 : 3. The profit of the firm for the year ended 31.3.2015 was  
` 9,00,000.

		 Prepare Profit & Loss Appropriation A/c of Vikas, Vivek and Vandana for the year ended 31.3.2015.

	 		 Ap  [O.D. Set-I, 2016]

	Ans.		  In the Books of Vikas, Vivek and Vandana
		  Dr.	 Profit & Loss Appropriation Account	 Cr.

Particulars Amount (`) Particulars Amount (`)

To Profit transferred to Partners'  
Capital A/cs :

Vikas	 4,72,500
Less : Given to Vandana	    15,000
Vivek	 3,15,000
Less : Given to Vandana	    22,500
Vandana	 1,12,500
Add : From Vikas	 15,000
Add : From Vivek	    22,500

4,57,500

2,92,500

1,50,000

By Profit & Loss A/c 9,00,000

9,00,000 9,00,000

	            Working Note :
			   Vandana's Guaranteed share	 = ` 1,50,000

			   Vandana's Actual share	 = ` 9 00 000
1
8

, ,
 
= ` 1,12,500

			   Vikas's share	 = ` 9,00,000 – ` 1,12,500 = ` 7,87,500 ×
 

3
5  

= ` 4,72,500

			   Vivek's share	 = ` 9,00,000 – ` 1,12,500 = ` 7,87,500 ×
 

2
5  

= ` 3,15,000

			   Deficiency	 = ` 1,50,000 – ` 1,12,500 = `
 
37,500

		  This deficiency will be borne by Vikas and Vivek in 2 : 3 :

			   Vikas will pay	 = ` 37,500 ×
 

2
5  

= ` 15,000

			   Vivek will pay	 = ` 37,500 ×
 

3
5  

= ` 22,500

	 [CBSE Marking Scheme, 2016]  3

	 Q. 7.	Amann, Babita and Suresh are partners in a firm. Their profit sharing ratio is 2 : 2 : 1. Suresh is guaranteed 
a minimum amount of ` 10,000 as share of profit, every year. Any deficiency on that account shall be met 
by Babita. The profits for two years ending March 31, 2016 and March 31, 2017 were ` 40,000 and ` 60,000, 

respectively. Prepare the Profit and Loss Appropriation Account for the two years.�  Ap  
	Ans.		  In the Books of Amann, Babita and Suresh 

Profit & Loss Appropriation Account   
Dr.	 for year ending 31st March, 2016� Cr.

Particulars Amount (`) Particulars Amount (`)

To Profit transferred to Partners’ Capital 
A/cs :

Amann               	 16,000
Babita                 	 14,000
Suresh                 	 10,000 40,000

40,000

By Profit and Loss A/c 40,000

40,000
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		  Profit & Loss Appropriation Account   
Dr. 	  for year ending 31st March, 2017� Cr. 

Particulars Amount (`) Particulars Amount (`)
To Profit transferred to Partners’ Capital 
A/cs :

Amann               	 24,000
Babita                 	 24,000
Suresh                 	 12,000 60,000

60,000

By Profit and Loss A/c 60,000

60,000

		 Working Notes:

			  2016             ` 40,000 (2 : 2 : 1) = ` 16,000 + ` 16,000 + ` 8,000
			                                 Shortfall = ` 10,000 − ` 8,000 = ` 2,000
			                        Babita's share = ` 16,000 − ` 2,000 = ` 14,000
			  2017             ` 60,000 (2 : 2 : 1) = ` 24,000 + ` 24,000 + ` 12,000 			   3

Commonly Made Error 

	 	 Students tend to reimburse the amount given 
by Babita in the second year.

Answering Tip 

	 	 In case of guaranty given by a partner, the 
amount given in the year of less profit is not 
reimbursed in the year when the profit is more.

	 Q. 8. 	A and B share profits and losses in the ratio of 2 : 1 and as from 1st April 2018, they admit C who is to have one-
tenth share of the profit with a guaranteed minimum of ` 16,000. A and B continue to share profits as before. 

The profits for the year ended 31st March, 2019 amount to ` 1,00,000.	  Ap
	 	Prepare Profit and Loss Appropriation Account.
Ans.	  	 In the books of A, B and C 

Profit and Loss Appropriation Account 
Dr.	 for the year ended 31st March, 2019	 Cr.

Particulars Amount (`) Particulars Amount (`)

To Profit transferred to Partners' Capital 
A/cs :

By Profit & Loss A/c
(Profit for the year) 1,00,000

A 	 56,000

B  	 28,000

C 	  16,000 1,00,000

1,00,000 1,00,000
3

	 	Working Note : 
	 	C will get higher of the following :

	 	(i)	 Share of profit as per profit sharing ratio i.e. 1

10
 of ` 1,00,000 = ` 10,000

	 	(ii) 	Minimum guaranteed profit i.e. ` 16,000 out of ` 1,00,000 are to be given to C first and Balance of  
	 ` 84,000 (` 1,00,000 – ` 16,000) will be shared by A and B in the ratio of 2 : 1.

	 	Net effect :

	 	A will get 56,000 
2

3
of 84, 000`

�

��
�

��
; B will get ` 28,000 

1

3
of 84, 000`

�

��
�

��
 and C will get ` 16,000 (minimum guarantee).

Commonly Made Error 

	 	 Students share the extra amount of guarantee 
equally instead of the profit sharing ratio.

Answering Tip

	 	 The share of the amount to be given to C needs 
to be shared by A and B in their profit sharing 
ratio.
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	 Q. 9.	The capital of the firm of Anuj and Benu is  

` 10,00,000 and the market rate of interest is ` 15%. 
Annual salary to the partners is ` 60,000 each. 
The profit for the last three years were ` 3,00,000;  
` 3,60,000 and ` 4,20,000. Goodwill of the firm is 
to be valued on the basis of two years’ purchase of 
last three years average super profits. Calculate the 

goodwill of the firm.� Ap  [CBSE Delhi Set-I, 2019]

Ans.	 	Actual profits	 = ` 3,60,000 – ` 1,20,000 

	 		  = ` 2,40,000	 1

	 	Normal profits	= 15% × ` 10,00,000 = ` 1,50,000

	 	 Super profits	 = Actual profits – Normal profits

	 		  = ` 2,40,000 – ` 1,50,000

	 		  = ` 90,000	 1

	 	 Goodwill	 = Super profits 

× Number of years' purchase

	 		  = ` 90,000 × 2

	 		  = ` 1,80,000 	 1

	 [CBSE Marking Scheme, 2019]
 	Q. 10.	A firm earned average profit of ` 3,00,000 during 

the last few years. The normal rate of return of the 
industry is 15%. The assets of the business were  
` 17,00,000 and its liabilities were ` 2,00,000. Calcu-
late the goodwill of the firm by capitalisation of 

average profits.   Ap  [CBSE Delhi Set-II, 2019]

Ans.	 	    Actual profits	= ` 3,00,000
	     Net Tangible Assets= Assets – Liabilities
	 				   = ` 17,00,000 – ` 2,00,000
	 				   = ` 15,00,000	 1

Capitalised value of the firm 
= (Average Profits × 100)/Normal rate of return

	 				   = (` 3,00,000 × 100)/15

	 				   = ` 20,00,000	 1

	 	          Goodwill		 = Capitalised value of the firm 

– Net Tangible Assets

	 				   = ` 20,00,000 – ` 15,00,000
	 				   = ` 5,00,000	 1

	 [CBSE Marking Scheme, 2019]

	Q. 11.	L, M and N were partners in a firm sharing profits 
and losses in the ratio of 5 : 3  : 2. On 1st April, 
2018 they admitted S as a new partner in the firm 
for 1/5th share in the profits. On S’s admission 
the goodwill of the firm was valued at 3 years’ 
purchase of last five years average profits. The 
profits during the last five years were :

Year ended 31st March Profit (`)
2014 4,00,000
2015 3,00,000
2016 2,00,000
2017 50,000
2018 (50,000)

	 	Calculate the value of the goodwill of the firm. 
Pass necessary journal entry for the treatment of 
goodwill on S’s admission.

Ap  [CBSE Delhi Set-III, 2019]

Ans.	    Average profits = ` 1,80,000

	 	 Goodwill	 = Average profits 
× Number of years' purchase

                                         = 1,80,000 × 3
	 		  = ` 5,40,000	  1
  S’s share of Goodwill	= ` 5,40,000/5 
	 		  = ` 1,08,000	 1

In the Books of L, M, N and S
 Journal

Date Particulars Dr. (`) Cr. (`)

S’s Capital A/c 	 Dr. 1,08,000

	To L’s Capital A/c 54,000

	To M’s Capital A/c 32,400

	To N’s Capital A/c 21,600

(Being adjustment entry 
made for goodwill)

[CBSE Marking Scheme, 2019] 1

	Q. 12.	The firm of P, Q and R earned ` 4,00,000 average 
profits during the last three years. The capital 
employed in the business was ` 6,00,000. Normal 
rate of return of the industry is 8%.

	 	Calculate the goodwill of the firm by capitalising 
the super profits.

� Ap  [CBSE Delhi Set-II, III, 2019]

 Ans.		     Average Profit = ` 4,00,000

	 Capital Employed	 = ` 6,00,000

	 Normal Profit	 = ` 6,00,000 × 8

100
	 	 = ` 48,000	 1

	 Super Profit	 = Average Profit – Normal Profit

	 	 =	 ` 4,00,000 – ` 48,000 

	 	 = ` 3,52,000			  1

Goodwill on the basis of Capitalisation of Super Profit	

	 		  = 
Super Profit

Rate of Normal Profit
100

	 		  = ` 3, 52, 000

8
100  

	 		  = ` 44,00,000	 1

[CBSE Marking Scheme, 2019]

Commonly Made Error

	 	 Sometime students forget the formula to 
capitalise super profit.
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Answering Tip

	 	 Capitalisation of super profit

            = 
Super Profit

Normal
100

Rate of Return

	Q. 13.	The total capital of the firm of Sakshi, Mehek and 
Megha is ` 1,00,000 and the market rate of interest 
is 15%. The net profits for the last 3 years were  
` 30,000, ` 36,000 and ` 42,000. Goodwill is to be 
valued at 2 years’ purchase of the last 3 years super 
profits. Calculate the goodwill of the firm.

	 		 Ap  [Delhi Comptt. Set, I, 2017]

	Ans.	 Goodwill = Super Profits × No. of years' purchase;
	 	 Super Profits = Average Profits – Normal Profits;
	 	 Normal Profits = �Capital employed ×

Normal Rate of Return
100

	 	 = ` 1,00,000×15/100  =  ` 15,000

	 	 Average Profits =
 

` ` `  +  36,000 +  30 000 42 000
3

, ,

	 	                             = ` 36,000

	 	     Super Profits = ` 36,000 – ` 15,000 = ` 21,000

	 	            Goodwill = ` 21,000 × 2 = ` 42,000

	 [CBSE Marking Scheme, 2017] 3

	 Q.14.	On 1st April, 2014 a firm had assets of ` 1,00,000 
excluding stock of ` 20,000. Partner’s Capital 
Accounts showed a balance of ` 60,000. The 
current liabilities were ` 10,000 and the balance 
constituted the reserve. If the normal rate of 
return is 8%, the ‘Goodwill’ of the firm is valued 
at ` 60,000 at four years of purchase of super profit, 
Find the average profit of the firm.�

� Ap  [OD Set-I, (Comptt.) 2015]

	  Ans. 	 Goodwill = Super profit × 4 years of purchase
		  60,000	 = Super profit × 4
	 ∴	 Super profit	 = 60,000 / 4 =  ` 15,000
		  Capital Employed	 = 1,00,000 + 20,000 
			   =   ` 1,20,000 – 10,000 

(Current liabilities)
			   =  ` 1,10,000

		  Normal Profit 	= 1,10,000 × 8/100 =  ` 8,800
		  15,000 	= Average Profit – 8,800
	 ∴	 Average Profit 	=  ` 23,800
	 [CBSE Marking Scheme, 2015]

1+½ +½ +1=3

Short Answer Type Questions-II � (4 marks each)

	 Q. 1.	 A and B are partners in the ratio of 3 : 2. The firm maintains fluctuating capital accounts and the balance of the 
same as on 31-03-2020 amounted to ` 1,60,000 and ` 1,40,000 for A and B respectively. Their drawings during 
the year were ` 30,000 each.

	 	 As per partnership deed interest on capital @10% p.a. on opening capitals had been provided to them. Calculate 
opening capitals of partners given that their profits were ` 90,000. Show your workings clearly.

Ap  [CBSE SQP, 2021]

	 Ans.		 In the Books of A and B
Calculation of Opening Capital

		

Particulars A (`) B (`)

Closing Capital 1,60,000 1,40,000
Add : Drawings 30,000 30,000
Less : Profits (37,800) (25,200)

1,52,200 1,44,800
Less : Interest on Capital 13,836 13,164

Opening Capital 1,38,364 1,31,636
 

		 Working Notes :
Total Closing Capital (of A and B) = ` 1,60,000 + ` 1,40,000 ` 3,00,000

Add : Total Drawings (of A and B) ` 60,000

Less : Profits (including Interest on Capital) (` 90,000)

Total capital in the beginning of the years 2,70,000

		 Interest on Capital = 10% of 2,70,000 =` 27,000
		 Divisible profits = 90,000 - 2,70,00 =` 63,000

[CBSE SQP Marking Scheme, 2021] (2 + 2 = 4)
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	 Q. 2.	 A and B are partners sharing profits and losses in the ratio of 3 : 2. Their capitals on 31st March, 2018 after all 

adjustments stood at ` 1,65,500 and ` 1,27,600 respectively.
	 	 Profits amounting to ` 50,000 for the year 2017-18 were distributed after allowing interest on drawings @ 12% 

p.a. During the year, A withdrew ` 15,000 at the beginning of every quarter and B withdrew ` 40,000 during the 
year. Partnership deed is silent on interest on drawings but provides for interest on Capital @ 5% p.a. Interest 
on Capital has not been provided.

	 	 Showing your workings clearly, pass the necessary adjustment entry to rectify the above errors.

 Ap  [CBSE Outside Delhi Set-I, II, III, 2020]
	 Q. 3. 	Arun, Shobha and Yuvraj were partners in a  firm. On 1st April, 2018 their Fixed Capitals stood at ` 1,00,000, 

` 50,000 and ` 50,000 respectively.
	 	 As per the provisions of partnership deed :
		 (i) 	 Partners were entitled to an annual salary of ` 20,000 each.
		 (ii)	 Interest on Capital ` 10% p.a. was to be provided.
		 (iii)	Profits were to be shared in the ratio 3 : 1 : 1. Net profit for the year ended 31st March, 2019 was ` 90,000.

		 Pass Journal Entries for the above in the books of the firm.		  Ap  [CBSE OD Set-I, II, III, 2020]

	 Ans.		 In the books of Arun, Shobha and Yuvraj
Journal Entries

Date Particulars L. F. Amount Dr. 
(`)

Amount Cr. 
(`)

Profit and Loss A/c 	 Dr. 90,000
	 To Profit and Loss Appropriation A/c 90,000
(Being profit transferred from Profit and Loss A/c to Profit 
and Loss Appropriation Account)
Partner's Salary A/c	 Dr. 60,000
	 To Arun’s Current A/c 20,000
	 To Shobha’s Current A/c 20,000
	 To Yuvraj’s Current A/c 20,000
(Being Salary credited to Partners' Current Accounts)
Profit and Loss Appropriation A/c 	 Dr. 60,000
	 To Partner's Salary A/c 60,000
(Being Partner's Salary transferred to Profit and Loss 
Appropriation Account)
Interest on Capital A/c	 Dr. 20,000
	 To Arun’s Current A/c 10,000
	 To Shobha’s Current A/c 5,000
	 To Yuvraj’s Current A/c 5,000
(Being interest on capital credited to Partners' Current 
Accounts)
Profit and Loss Appropriation A/c 	 Dr. 20,000
	 To Interest on Capital A/c 20,000
(Being interest on capital transferred to Profit and Loss 
Appropriation Account)
Profit & Loss Appropriation A/c	 Dr. 10,000
	 To Arun’s Current A/c 6,000
	 To Shobha’s Current A/c 2,000
	 To Yuvraj’s Current A/c 2,000

(Being divisible profit credited to Partner's Current Accounts)
[CBSE Marking Scheme, 2020] [1 + ½  + ½  + ½  + ½ + 1]

Commonly Made Error 

	 	 Students generally forget to pass entry of 
transferring profit from Profit & Loss Account 
to Profit & Loss Appropriation Account.

Answering Tip

	 	 Pass all the journal entries carefully.

 These questions are for practice and their solutions are available at the end of the chapter
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	 Q. 4.		 Rohit, Raman and Raina are partners in a firm. Their capital accounts on 1st April, 2019, stood at ` 2,00,000,  

` 1,20,000 and ` 1,60,000 respectively. Each partner withdrew ` 15,000 during the financial year 2019-20.

		 As per the provisions of their partnership deed :

		 (a) Interest on capital was to be allowed @ 5% per annum.

		 (b) Interest on drawings was to be charged @4% per annum.

		 (c) Profits and losses were to be shared in the ratio 5 : 4 : 1.

	 	 The net profit of ̀  72,000 for the year ended 31st March, 2020, was divided equally amongst the partners without 
providing for the terms of the deed.

	 	 You are required to pass a single adjustment entry to rectify the error (show working clearly).

		  Ap  [CBSE SQP, 2021]

Ans.			  In the books of Rohit, Raman and Raina 
Journal

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

31.03.20 Raina's Capital A/c	 Dr.

To Rohit’s Capital A/c

To Raman’s Capital A/c

(Being adjustment entry passed)

11,410

10,150

1,260

Adjustment Table

Particulars Rohit (`) Raman (`) Raina (`) Firm (`)

Interest on Capital
Interest on Drawings
Profit wrongly Distributed in equal ratio

10,000
(300)

(24,000)

6,000
(300)

(24,000)

8,000
(300)

(24,000)

(24,000)
900

72,000

Total
Distribution of Profit in the ratio of 5 : 4 : 1

(14,300)
24,450

(18,300)
19,560

(16,300)
4,890

48,900
48,900

Net Effect 10,150 1,260 (11,410) —

	 	 [CBSE SQP Marking Scheme, 2021] (1.5 + 2.5 = 4)

	 Q. 5.	 Puneet and Akshara were partners in a firm sharing profits and losses in the ratio of 2 : 3. The following was 
the balance sheet of the firm as on 31st March, 2019 :�

Balance Sheet of Puneet and Akshara 
as on 31st March, 2019

Liabilities Amount (`) Assets Amount (`)

Capital : Sundry Assets 2,00,000

	 Puneet 	 90,000

	 Akshara 	 1,10,000 2,00,000

2,00,000 2,00,000

		 The profits ` 40,000 for the year ended 31st March, 2019 were divided between the partners without allowing 
interest on capital @ 5% p.a. and commission to Akshara @ ` 1,000 per quarter.

		 The drawings of the partners during the year were :

		 Puneet ` 2,500 per month.

		 Akshara ` 10,000 per quarter.

		 Showing your workings clearly, pass necessary adjustment entry in the books of the firm.	
Ap  [CBSE Delhi Set-I, II, III, 2020]
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	 Ans.		 In the books of Puneet and Akshara 
Journal Entry

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

2019 
March 31 Puneet’s Capital A/c 	 Dr.

 
1,000

	 To Akshara’s Capital A/c 1,000

(Being omission of interest on capital and commission, now 
rectified)

		 Working Note :	

		  Table Showing Adjustments

Partners
Interest on 

Capital  
Cr. (`)

Commission   
Cr. (`)

Profits  
Dr. (`)

Net Effect 

Dr. (`)  Cr. (`)

Puneet 5,200 — 6,200 1,000 —

Akshara 6,300 4,000 9,300 — 1,000

11,500 4,000 15,500 1,000 1,000
		 Note : If an examinee has calculated Net Effect correctly by any other method, full credit be given.
		 Calculation of Interest on Capital :
	 Calculation of Opening Capitals

Particulars Puneet (`) Akshara (`)

Closing Capital 90,000 1,10,000

Add : Drawings 30,000 40,000

Less : Profits (16,000) (24,000)

Opening Capitals 1,04,000 1,26,000

Interest on Capital @ 5% p.a. 5,200 6,300

[CBSE Marking Scheme, 2020] [1 +2 +1 = 4]

Topper's Answer, 2020
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	 Q. 6.	�Praveen, Sahil and Riya are partners having fixed capitals of  ` 2,00,000, ` 1,60,000 and ` 1,20,000 respectively. 
They share profits in the ratio of 3 : 1 : 1. The partnership deed provided for the following which were not 
recorded in the books :
(i)	 Interest on Capital @ 5% p.a.
(ii)	 Salary to Praveen  ` 1,500 p.m. and to Riya  ` 1,000 p.m.
(iii)	Transfer of profit to General Reserve ` 10,000. Net profit for the year ended 31st March, 2015 was ` 1,00,000.

	 	�Pass necessary rectifying entry for the above adjustments in the books of the firm. Also show your working 

clearly.		   Ap  [O.D. Set. I, II, III, 2016]

Commonly Made Error 

	 	 Students mostly do not calculate the divisible 
profit.

Answering Tip 

	 	 Students need to calculate the divisible profit in 
order to make a proper rectification.

	 Q. 7.	 B, C and D are partners sharing profits and losses in the ratio of 3 : 2 : 1. It was discovered after preparing the 
final accounts that interest on drawings @ 5% p.a. had not been taken into consideration. The drawings of the 

partners were : B ` 15,000; C  ` 12,600; D ` 12,000. Give the necessary adjusting journal entry. �  Ap  
Ans.		  In the Books of .........

Journal Entry

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

D’s Capital A/c	 Dr.
To B’s Capital A/c
To C’s Capital A/c

	(Being interest on drawings omitted, now adjusted)

135
120
15

2
 These questions are for practice and their solutions are available at the end of the chapter
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	 	Working Notes : Interest is to be calculated for six months only since the date of drawings is not specified.

Partners
Interest on Drawings (`)  

Dr. 
Profits in the ratio of 3 : 2 : 1 to 

Capital A/cs Cr. (`)  
Net effect

Dr. (`) Cr. (`)

B
C
D

  375
  315
  300

  495
  330
  165

—
—

 135

 120
 15
—

  990   990  135  135

	 Q. 8.	Ajay, Binay and Chetan were partners sharing profits in the ratio of 3 : 3 : 2. The partnership deed provided for 
the following :�
(i)	 Salary of ` 2,000 per quarter to Ajay and Binay.
(ii)	 Chetan was entitled to a commission of ` 8,000.
(iii)	 Binay was guaranteed a profit of ` 50,000 p.a.

	 	The profit of the firm for the year ended 31st March, 2015 was ̀  1,50,000 which was distributed among Ajay, Binay and 
Chetan in the ratio of 2 : 2 : 1, without taking into consideration the provisions of partnership deed. Pass necessary 
rectifying entry for the above adjustments in the books of the firm. Show your working clearly.

� Ap  [Delhi Comptt. I, II, III 2016] 
	 Ans.	                                                                In the Books of Ajay, Binay and Chetan

Journal Entry

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

Ajay’s Capital A/c	 Dr. 
Binay’s Capital A/c	 Dr.

To Chetan’s Capital A/c 
(Being salary, commission and guaranteed profit omitted, now 
adjusted)

6,400
2,000

8,400

Table Showing Adjustment

Ajay (`) Binay (`) Chetan (`) Total (`)
Salary (Cr.) 8,000 8,000 — 16,000
Commission (Cr.) — — 8,000 8,000
Guaranteed Profits (Cr.) — 50,000 — 50,000
Profits to be Distributed (Cr.) 45,600 — 30,400 76,000
Profits to be Recovered (Dr.) 60,000 60,000 30,000 1,50,000
Adjustment 6,400 (Dr.) 2,000 (Dr.) 8,400 (Cr.) —

2+2=4
	 	Working Notes :
	 	 (i)  Profit to be distributed (Cr.) = ` 76,000 × 3/5   = ` 45,600
	 	(ii)  Profit to be Distributed (Cr.) = ` 76,000 × 2/5 = ` 30,400
	 Q. 9.	P and Q were partners in a firm sharing profits in the ratio of 5 : 3. On 1.4.2014, they admitted R as a new partner 

for 1/8th share in the profits with a guaranteed profit of `
 
75,000. The new profit sharing ratio between P and Q 

will remain the same but they agreed to bear any deficiency on account of guarantee to R in the ratio 3 : 2. The 
profit of the firm for the year ended 31.3.2015 was ` 4,00,000.

		 Prepare Profit & Loss Appropriation A/c of P, Q and R for the year ended 31.3.2015. � Ap  [Delhi Set-I, 2016]
	 Ans.		                                                    Profit & Loss Appropriation Account of P, Q and R
	 	 Dr.	 for the year ending 31st March,2015	 Cr.

Particulars Amount (`) Particulars Amount (`)
To Partner’s Capital A/c :
     (transfer of profit)
			   P	  2,18,750
 			   Less : Deficiency	  15,000
 			   Q	  1,31,250
 			   Less :Deficiency                  10,000
			   R	  50,000
			   Add: From P	  15,000
			   Add: From Q	  10,000

2,03,750

1,21,250

75,000

By Profit and Loss A/c 4,00,000

4,00,000 4,00,000

� 2



	 BASIC OF PARTNERSHIP 33
	 	Working Notes :
	 	 New Profit sharing ratio will be calculated as follows :
	 	 R to share 1/8th of the profits. The remaining profit =1 – 1/8= 7/8th  will be shared by P and Q in the ratio of 5 : 3. 
	 		  	 P’s share in profit will be 5/8 × 7/8	=	35/64
	 		  	 Q’s share in profit will be 3/8 × 7/8	=	21/64
	 		        The new ratio becomes 35/64 : 21/64 : 1/8 or 8/64	=	35 : 21 : 8
	 		  	 P’s share in profit = ` 4,00,000 × 35/64	=	` 2,18,750
	 		  	 Q’s share in profit = ` 4,00,000 × 21/64	=	` 1,31,250
	 		  	 R’s share in profit = ` 4,00,000 × 8/64	=	` 50,000
	 		     Deficiency borne = Total Profit – R’s profit =  ` 75,000 – ` 50,000 = ` 25,000
	 	 Deficiency of R (` 25,000) will be shared by P and Q in the ratio of 3 : 2
	 		  	 P will bear 3/5 of ` 25,000 = 3/5 × ` 25,000	= 	` 15,000
	 		  	 Q will bear 2/5 of ` 25,000 = 2/5 × ` 25,000	=	 ` 10,000
	 	 Thus, the profits of the firm will be shared as follows :
	 		  	 P will get = ` 2,18,750 – ` 15,000	=	  ` 2,03,750
	 		  	 Q will get = ` 1,31,250 – ` 10,000	=	  ` 1,21,250 
	 		                R will get = ` 50,000 + ` 15,000  + ` 10,000 = ` 75,000	 2

Long Answer Type Questions-I � (6 marks each)

	 Q. 1.		Sudha, Naresh and Geeta were partners in a firm sharing profits in the ratio of 5 : 3 : 2. Their fixed capitals were 
` 6,00,000, ` 4,00,000 and ` 2,00,000 respectively. Besides her capital, Geeta had given a loan of ` 75,000 to the 
firm. There partnership deed provided for the following :

	 	(i)	 Interest on capital @ 9% p.a.
		 (ii)	 Interest on partners’ drawings @ 12% p.a.
		 (iii)	Salary to Sudha ` 30,000 per month and to Naresh ` 40,000 per quarter.
		 (iv)	 Interest on Geeta’s loan @ 9% p.a.
		 During the year Sudha withdrew ̀  50,000 at the end of each quarter. Naresh withdrew ̀  50,000 in the beginning 

of each half year and Geeta withdrew ` 70,000 at the end of each half year.
		 The profit of the firm for the year ended 31.3.2019 before allowing interest on Geeta's loan was ` 7,06,750. 

Prepare Profit and Loss Appropriation Account.	�   Ap  [CBSE O.D. Set-I, II, III, 2020]

	 Ans.		 In the books of Suresh, Naresh and Geeta 
    Profit and Loss Appropriation Account

		 Dr.	 for the year ending 31st March, 2019		  Cr.

Particulars Amount (`) Particulars Amount (`)

To Interest on Capital : By Net Profit 7,00,000
	 Subha's Current A/c 	 54,000 By Interest on Drawings :
	 Geeta’s Current A/c 	 18,000 	 Sudha’s Current A/c 	 9,000
	 Naresh’s Current A/c 	 36,000 1,08,000 	 Naresh’s Current A/c 	 9,000
To Salaries : 	 Geeta’s Current A/c 	 4,200 22,200
	 Sudha’s Current A/c 	 3,60,000

	 Naresh’s Current A/c 	 1,60,000 5,20,000
To Profit transferred to Partners' 
     Current A/cs :
	 Sudha 	 47,100
	 Naresh 	 28,260
	 Geeta 	 18,840 94,200

7,22,200 7,22,200
		  `	  [1 + 1 + 1 + 1 + 2 = 6]
		 Net Profit	 	7,06,750
		 Less : Interest on Geeta's Loan	 	 6,750
			  	7,00,000� [CBSE Marking Scheme, 2020]



Oswaal CBSE Question Bank Chapterwise & Topicwise, ACCOUNTANCY, Class-XII  34
	 Q. 2. 	Sonu and Rajat started a partnership firm on April 1, 2017. They contributed ̀  8,00,000 and ̀  6,00,000 respectively 

as their capitals and decided to share profits and losses in the ratio of 3 : 2.
	 	The partnership deed provided that Sonu was to be paid a salary of ` 20,000 per month and Rajat a commission 

of 5% on turnover. It also provided that interest on capital be allowed @ 8% p.a. Sonu withdrew ` 20,000 on 
1st December, 2017 and Rajat withdrew ` 5,000 at the end of each month. Interest on drawings was charged 
@ 6% p.a. The net profit as per Profit and Loss Account for the year ended 31st March, 2018 was ` 4,89,950. The 
turnover of the firm for the year ended 31st March, 2018 amounted to ` 20,00,000. Pass necessary journal entries 
for the above transactions in the books of Sonu and Rajat.	   Ap  [CBSE Delhi Set-I, II, III 2019]

Q. 3. 		Naveen, Qadir and Rajesh were partners doing an electronic goods business in Uttarakhand. After the accounts 
of partnership were drawn up and closed, it was discovered that interest on capital has been allowed to 
partners @6% p.a. for the years ending 31st March, 2017 and 2018, although there is no provision for interest 
on capital in the partnership deed. On the other hand, Naveen and Qadir were entitled to salary of ` 3,500 
and ` 4,000 per quarter respectively, which has not been taken into consideration. Their fixed capitals were  
` 4,00,000, ̀  3,60,000 and ̀  2,40,000 respectively. During the last two years, they had shared the profits and losses as  
follows :

	 	Year Ended	 Ratio 
	 	31st March, 2017	  3 : 2 : 1
	 	31st March, 2018	 5 : 3 : 2
	 	Pass necessary adjusting entry for the above adjustments in the books of the firm on 1st April, 2018. Show your 

working clearly.	 Ap  [CBSE Outside Delhi Set-I, II, III 2019]

Ans. 
	 	 	 In the Books of Naveen, Qadir and Rajesh
	 	 	 Journal

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

2018
April 1 Rajesh's Current A/c 	 Dr. 17,800

	 To Naveen's Current A/c
	 To Qadir's Current A/c

10,000
7,800

(Being interest on capital wrongly allowed and partner's 
salary omitted, now rectified)

2

	 Working Notes :
	       Past Adjustment Table

      Particulars Naveen (`) Qadir (`) Rajesh (`) Total (`)

A. Cancellation of Interest on Capital :

2016-17 24,000(Dr.) 21,600(Dr.) 14,400 (Dr.) 60,000(Cr.)

2017-18 24,000(Dr.) 21,600(Dr.) 14,400(Dr.) 60,000(Cr.)

Total Interest on Capital 48,000(Dr.) 43,200(Dr.) 28,800(Dr.) 1,20,000(Cr.)

B. Omission of Salary :

2016-17 14,000(Cr.) 16,000(Cr.) ............ 30,000(Dr.)

2017-18 14,000(Cr.) 16,000(Cr.) ............ 30,000(Dr.)

Total Salary 28,000(Cr.) 32,000(Cr.) ............ 60,000(Dr.)

C. Profits to be credited : (A – B)

2016-17 (3 : 2 : 1) 15,000(Cr.) 10,000(Cr.) 5,000(Cr.) 30,000(Dr.)

2017-18 (3 : 2 : 1) 15,000(Cr.) 9,000(Cr.) 6,000(Cr.) 30,000(Dr.)

Total Profits credited 30,000(Cr.) 19,000(Cr.) 11,000(Cr.) 60,000(Dr.)

Net Effect [A+B+C] 10,000(Cr.) 7,800(Cr.) 17,800(Dr.)     —

Note : In case a student has presented correct working in any other form, full credit may be given.
	 [CBSE Marking Scheme, 2019] 4

 These questions are for practice and their solutions are available at the end of the chapter
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Topper's Answer, 2019

	            

	

	

           

	 Q. 4. 	On 31st March, 2018 the balance in the Capital Accounts of Abhir; Bobby and Vineet, after making adjustments 

for profits and drawings were ` 8,00,000; ` 6,00,000 and ` 4,00,000 respectively.

	 	Subsequently, it was discovered that interest on capital and interest on drawings had been omitted. The 

partners were entitled to interest on capital @ 10% p.a. and were to be charged interest on drawings @ 6% p.a. 

The drawings during the year were : Abhir ` 20,000 drawn at the end of each month, Bobby ` 50,000 drawn at 

the beginning of every half year and Vineet ` 1,00,000 withdrawn on 31st October, 2017. The net profit for the 

year ended 31st March, 2018 was ` 1,50,000. The profit sharing ratio was 2 : 2 : 1.

	 	Pass necessary adjusting entry for the above adjustments in the books of the firm. Also show your workings 

clearly.	�   Ap  [CBSE Outside Delhi Set-I, II, III 2019] 
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 Ans. 	 In the books of Abhir, Bobby and Vineet 

Journal

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

2018
April 1 Bobby's Capital A/c 	 Dr. 14,402

	 To Abhir's Capital A/c
	 To Vineet's Capital A/c

10,112
4,290

(Being interest on capital and interest on drawings omitted, 
now rectified)

	 	Working : � 3
	 Past Adjustment Table

Particulars Abhir (`)  Bobby (`) Vineet (`) Total (`)

(A) Cancellation of profits 60,000 (Dr.) 60,000(Dr.) 30,000(Dr.) 1,50,000(Cr.)

Omission of IOD 6,600(Dr.) 4,500(Dr.) 2,500(Dr.) 13,600(Cr.)

Omission of IOC 76,712(Cr.) 50,098(Cr.) 36,790(Cr.) 1,63,600(Dr.)

Net Effect 10,112(Cr.) 14,402(Dr.) 4,290(Cr.) —

(B) Calculation of Opening Capital :

Particulars Abhir (`) Bobby (`) Vineet (`)
Capital on 31-3-2018 8,00,000 6,00,000 4,00,000
Add : Drawings 2,40,000 1,00,000 1,00,000
Less : Share of profit (60,000) (60,000) (30,000)

Capital on 1-4-2017 9,80,000 6,40,000 4,70,000

	(C)	 Interest on Capital @ 10% = 98,000 + 64,000 + 47,000 = ` 2,09,000

		                    Profits available = ` 1,50,000 + 13,600 = ` 1,63,600
		 Therefore, Interest on Capital is given as ` 1,63,600 divided in the ratio of 98 : 64 : 47.

	 [CBSE Marking Scheme, 2019] 3

Commonly Made Error 

	 	 Students generally make mistakes while calculating opening capital. Students mostly find difficulty to solve 
these types of questions.

Answering Tips 

	 	 Adequate practice is needed to solve these types of questions.
	 	 Students should prepare adjustment table to find out the correct part of Gain and Sacrifice of the partners; 

gaining partners are debited and Sacrificing Partners are credited.

	 Q. 5.	Mudit and Uday are partners in a firm sharing profits in the ratio 2 : 3. Their capital accounts as on April 1, 
2015, showed balances of ` 70,000 and ` 60,000 respectively. The drawings of Mudit and Uday during the year 
2015-16 were ` 16,000 and ` 12,000 respectively. Both the amounts were withdrawn on 1st January, 2016. It was 
subsequently found that the following items had been omitted while preparing the final accounts for the year 
ended 31st March, 2016 :

		 (i)	 Interest on capitals @ 6% p.a.;
		 (ii)	 Interest on drawings @ 6% p.a.;
		 (iii)	 Mudit was entitled to a commission of ` 4,000 for the whole year.
		 Showing your workings clearly, pass a rectifying entry in the books of the firm.

 Ap  [Outside Delhi Comptt. Set, I, 2017] 
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	 Ans.	                                                                 In the Books of the Mudit and Uday
Journal

Date Particulars L.F. Dr. (`) Cr. (`)

2016  
Apr. 1

 
Uday's Capital A/c		  Dr.
	 To Mudit's Capital A/c
(Being rectifying entry for omission of IOC, IOD and  
Mudit's commission)

 
3,408 3,408

� 2
Working Notes :

	  Past Adjustment Table

Particulars Mudit (`) Uday (`) Total (`)

Omission of IOC 4,200 (Cr.) 3,600 (Cr.) 7,800 (Dr.)
Omission of  IOD    240 (Dr.)    180 (Dr.)     420 (Cr.)
Omission of Commission 4,000 (Cr.) — 4,000 (Dr.)

7,960 (Cr.) 3,420 (Cr.) 11,380 (Cr.)
Dr. Total divided in 2 : 3 4,552 (Dr.) 6,828 (Dr.) 11,380 (Cr.)

Net Effect 3,408 (Cr.) 3,408 (Dr.) —

� [CBSE Marking Scheme, 2017]  4

	 Q. 6.	On March 31, 2014, the balances in the Capital Accounts of Eleen, Monu and Ahmad after making adjustments 
for profits and drawings were ` 1,60,000, ` 1,20,000 and ` 80,000 respectively. Subsequently, it was discovered 
that the interest on capital and drawings had been omitted.		

		 (i)	 The profit for the year ended 31st March, 2014 was ` 40,000.
		 (ii)		 During the year Eleen and Monu each withdrew a total sum of ` 24,000 in equal instalments in the  

	 beginning of each month and Ahmad withdrew a total sum of ` 48,000 in equal instalments at the end of  
	 each month.

		 (iii)	 The interest on drawings was to be charged @ 5% p.a. and interest on capital was to be allowed @ 10% p.a.
		 (iv)	 The profit sharing ratio among the partners was 2 : 1 : 1.
		 Showing your working notes clearly, pass the necessary rectifying entry.	

�  Ap  [Delhi Set-I and Delhi Set-II, III, (Comptt.) 2015]

Ans. 	 In the books of Eleen, Monu and Ahmad 
Journal Entry

Date Particulars L.F.
Amount (`)  

Dr. 
Amount (`)  

Cr.

2014 
Mar. 31 

Eleen's Capital A/c	 Dr.

	 To Monu's Capital A/c

	 To Ahmad's Capital A/c

(Being interest on capital and interest on drawings 
omitted, now adjusted)

3,850

2,950

900

	 		 2
	 	Working Notes :
	 (i)	 	 Calculation of Opening Capital 

Eleen (`) Monu (`) Ahmad (`)

Closing Capitals 1,60,000 1,20,000 80,000

Less : Profits (20,000) (10,000) (10,000)

Add : Drawings 24,000 24,000 48,000

Opening Capitals 1,64,000 1,34,000 1,18,000

	 		 2
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	 (ii)	 	 Table showing Adjustment 

Eleen (`) Monu (`) Ahmad (`) Total (`)

Interest on Capital (Cr.) 16,400 13,400 11,800 41,600

Interest on Drawings (Dr.) 650 650 1,100 2,400

Profits already distributed (Dr.) 20,000 10,000 10,000 40,000

Profits to be distributed (Cr.) 400 200 200 800

Adjustment 3,850 (Dr.) 2,950 (Cr.) 900 (Cr.) —
	 		 2
	 (iii)	 Calculation of Interest on Capital :
           			  Interest on Eleen’s Capital	 =	 ` 1,64,000 @ 10% = ` 16,400
         			  	 Interest on Monu’s Capital	 =	 ` 1,34,000 @ 10% = ` 13,400
	 		  	 Interest on Ahmad’s Capital	 =	 ` 1,18,000 @ 10% = ` 11,800

	 (iv)	 Calculation of Interest on Drawings :	
	 		  	

Interest on drawings withdrew by Eleen
  

	 (Being withdrawn at the beginning of each month)= 
` 24 000 5 6 5

100 12
, .

 = ` 650	 	
	 	

Interest on drawings withdrew by Monu 
 

	 (Being withdrawn at the beginning of each month)= 
` 24 000 5 6 5

100 12
, .

 = ` 650	 		  	           

   Interest on drawings withdrew by Ahmad 
		           (Being withdrawn at the end of each month) = ` 48 000 5 5 5

100 12
, . = ` 1,100

	 	Note : In case the working notes have been correctly prepared in a different form, full credit may be given.
	 	 Profit to be distributed : ` 40,000 − (41,600 − 2,400) = ` 800	 [CBSE Marking Scheme, 2015]

	 Q. 7. 	Jay, Vijay and Karan were partners of an architect firm sharing profits in the ratio of 2 : 2 : 1. Their partnership 
deed provided the following :

	 	 (i)	 A monthly salary of ` 15,000 each to Jay and Vijay.
	 	 (ii)	 Karan was guaranteed a profit of ` 5,00,000 and Jay guaranteed that he will earn an annual fee of ` 2,00,000.  

	 Any deficiency arising because of guarantee to Karan will be borne by Jay and Vijay in the ratio of 3 : 2.
	 	During the year ended 31st March, 2018 Jay earned fee of ` 1,75,000 and the profits of the firm amounted to 

` 15,00,000.
	 	 Showing your working clearly prepare Profit and Loss Appropriation Account and the Capital Accounts of Jay, 

Vijay and Karan for the year ended 31st March, 2018.	   Ap  [CBSE Delhi Set-I, II, III, 2019]

Ans. 	 In the Books of Jay, Vijay and Karan
         Dr.                                                   Profit and Loss Appropriation Account� Cr.

for the year ended 31st March, 2018
Particulars Amount (`) Particulars Amount (`)

To Salary : By Net Profit 15,00,000
	 Jay’s Capital A/c 	 1,80,000 By Jay’s Capital A/c 25,000
	 Vijay Capital A/c 	 1,80,000 3,60,000 	 (2,00,000 – 1,75,000)
To Profit transferred to : 	 (Deficiency in guaranteed fees)
	 Jay’s Capital A/c 	 4,66,000
	 Less : Guarantee to Karan 
	 	 (1,60,200) 3,05,800
	 Vijay’s Capital A/c 	 4,66,000
	 		Less : Guarantee to Karan
 	 (1,06,800) 3,59,200
	 Karan’s Capital A/c 	 2,33,000
	 Add : Guarantee 	 2,67,000 5,00,000

15,25,000 15,25,000

3
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Dr.	 Partners’ Capital Accounts	 Cr.

Particulars
Jay
 (`)

Vijay 
(`)

Karan 
(`) Particulars

Jay 
(`)

Vijay 
(`)

Karan 
(`)

To P & L App. A/c 25,000 — — By Salary 1,80,000 1,80,000 —

To Balance c/d 4,60,800 5,39,200 5,00,000 By Profit & Loss 
Appropriation A/c 
(profit)

3,05,800 3,59,200 5,00,000

4,85,800 5,39,200 5,00,000 4,85,800 5,39,200 5,00,000

	 	In case, the candidate has prepared the Partners' Capital Accounts considering the guarantee in any other way 
and the closing balances in their Capital Accounts are same as indicated above, full credit be given.

	 [CBSE Marking Scheme, 2019] 3

	 Q. 8.	Moli, Bhola and Raj were partners in a firm sharing profits and losses in the ratio of 3 : 3 : 4. Their  partnership 
deed provided for the following :

		 (i)	 Interest on capital @ 5% p.a.

		 (ii)	 Interest on drawing @ 12% p.a.

		 (iii)	Interest on partners’ loan @ 6% p.a.

		 (iv)	Moli was allowed an annual salary of ` 4,000; Bhola was allowed a commission of 10% of net profit  as  
	 shown by Profit and Loss Account and Raj was guaranteed a profit of ` 1,50,000 after making all the  
	 adjustments as provided in the partnership agreement.

		 Their fixed capitals were Moli : ` 5,00,000; Bhola : ` 8,00,000 and Raj : ` 4,00,000. On 1st April , 2016 Bhola 
extended loan of ` 1,00,000 to the firm. The net profit of the firm for the year ended 31st March, 2017 before 
interest  on Bhola’s loan was ` 3,06,000.

		 Prepare Profit and Loss Appropriation Account of Moli, Bhola and Raj for the year ended 31st March, 2017 and 
their Current Accounts assuming that Bhola withdrew ̀  5,000 at the end of each month , Moli withdrew ̀  10,000 
at the end of each quarter and Raj withdrew ` 40,000 at the end of each half year. �  Ap  [CBSE Delhi/OD 2018]

Ans. 	 In the Books of Moli, Bhola and Raj
        

Dr.

	 Profit and Loss Appropriation Account

 	 Cr.	 for the year ended 31st March, 2017

Particulars Amount (`) Particulars Amount (`)

To Interest on Capital :
     Moli’s Current A/c	 25,000
     Bhola’s Current A/c	 40,000
     Raj’s Current A/c	 20,000
To Salary : 
     Moli’s Current A/c

85,000

4,000

By Profit and Loss A/c
     (3,06,000 − 6,000)
By Interest on Drawings :
     Moli’s Current A/c	 1,800
     Bhola’s Current A/c	 3,300
     Raj’s Current A/c	 2,400

3,00,000

7,500

To Commission :
     Bhola’s Current A/c  
To Profit transferred to :
     Moli’s Current A/c	 56,550
     Less :  Guarantee	 (37,300)
     Bhola’s Current A/c	 56,550
     Less : Guarantee	 (37,300)
     Raj’s Current A/c	 75,400
     Add: From Moli	 37,300
     Add: From Bhola	 37,300

30,000

19,250

19,250

1,50,000

3,07,500 3,07,500
3
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Dr.	 Partners’ Current Accounts� Cr.

Particulars
Moli  

(`)
Bhola 

(`)
Raj  
(`)

Particulars
Moli  

(`)
Bhola 

(`)
Raj 
(`)

To Drawings A/c

To �Interest on 
Drawings A/c

To Balance c/d

40,000

1,800 

6,450

60,000

3,300 

25,950

80,000

2,400

 
87,600

By �Interest on Capital 
A/c

By Salary A/c

By Commission A/c

By �P&L Appropria-
tion A/c-share of 
profit

25,000 

4,000

-

 
19,250

40,000 

-

30,000

 
19,250

20,000 

-

-

 
1,50,000

48,250 89,250 1,70,000 48,250 89,250 1,70,000

� 3 [CBSE Marking Scheme, 2018]  

Commonly Made Error

	 	 Generally students pass entries through Capital Account instead of Current Account.

Answering Tip

	 	 Always remember that if partners' capital account are fixed, all the adjustment entries are passed through 
partners' current accounts.

COMPETENCY BASED QUESTIONS 

Case based MCQs

	 I.	On the basis of following information, answer the 
given questions:

	 	Asif and Ravi are partners in a firm, sharing profits 
and losses in the ratio of 3 : 2. Their fixed capitals 
as on 1st April, 2016 were ` 6,00,000 and ` 4,00,000 
respectively.

	 	Their partnership deed provides for the following :
(i)	 Partners are to be allowed interest on their 

capital @ 10% per annum.
(ii)	 They are to be charged interest on drawings  

@ 4% per annum.
(iii)	Asif is entitled to a salary of `2,000 per month.
(iv)	 Ravi is entitled to a commission of 5% of the net 

profit of the firm before charging such commission.
(v)	 Asif is entitled to a rent of ` 3,000 per month for 

the use of his premises by the firm.
	 	The net profit of the firm for the year ended 31st 

March, 2017, before providing for any of the above 
clauses was ` 4,00,000.

	 	Both partners withdrew ` 5,000 at the beginning of 
every month for the entire year.

	 Q. 1.	The amount of Interest on Asif’s Capital, shown in 
the Profit and Loss Appropriation Account is:
(A)	 `60,000	 (B)	 `40,000
(C)	 `20,000	 (D)	 `30,000

	 Ans.	Option (A) is correct.
Explanation: `6,00,000 × 10% = `60,000

	 Q. 2.	How much commission is to be given to Ravi?
(A)	 `19,047	 (B)	 `18,200
(C)	 `19,200	 (D)	 `18,047

	 Ans.	Option (B) is correct.
Explanation: Net Profit = `4,00,000 – `36,000

                      = `3,64,000

Commission = 5% of 3,64,000 = `18,200

	 Q. 3.	How much salary is Asif entitled for the full year?
(A)	 `24,000	 (B)	 `20,000
(C)	 `18,000	 (D)	 `21,000

	 Ans.	Option (A) is correct.
Explanation: Salary = `2000 × 12 = `24,000

	 Q. 4.	How will the rent to be paid to Asif treated?
(A)	 It will be in the debit side of Profit and Loss 

Appropriation Account.
(B)	 It will be subtracted from the Net Profit.
(C)	 It will be added to the Capital Account of Asif.
(D)	 It will be deducted from the Capital Account of Ravi.

	 Ans.	Option (B) is correct.
	 II.	On the basis of following information, answer the 

given questions:�
	 	Anita, Asha and Bashir are partners sharing profits 

and losses in the ratio of 3 : 2 : 1 respectively. On 
1st April, 2016, they decided to change their profit 
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sharing ratio. Their partnership deed provides that 
in the event of any change in the profit sharing 
ratio, the goodwill of the firm should be valued at 
two years' purchase of the average super profits for 
the past three years :

	 	2015-16 Profit ` 40,000
	 	2014-15 Profit ` 30,000
	 	2013-14 loss ` 10,000
	 	The average capital employed in the business was 

` 1,10,000; the rate of interest expected from capital 
invested was 10%.

	 Q. 1.	The total profit earned in three years is __________.
(A)	 `80,000	 (B)	 `70,000
(C)	 `60,000	 (D)	 None of these

	 Ans.	Option (C) is correct.
Explanation: Total Profit = `40,000 + `30,000  
– `10,000 = `60,000

	 Q. 2.	The Super Profit of the firm is ________.
(A)	 `10,000	 (B)	 `20,000
(C)	 `9,000	 (D)	 `18,000

	 Ans.	Option (C) is correct.
Explanation: 
   Super Profit = Average Profit – Normal Profit 
Normal Profit = �Capital Employed × Normal rate 

of return /100 
             = `1,10,000 × 10/100 = `11,000 
   Super Profit = ` 20,000 – ` 11,000 
             = ` 9,000

	 Q. 3.	What is the amount of goodwill as calculated?
(A)	 `18,000	 (B)	 `20,000
(C)	 `27,000	 (D)	 None of these

	 Ans.	Option (A) is correct.
Explanation: Goodwill = `9,000 × 2 = `18,000

	 Q. 4.	The normal profit earned by the firm is __________.
(A)	 `9,000	 (B)	 `11,000
(C)	 `18,000	 (D)	 `60,000

	 Ans.	Option (B) is correct.

Case based Subjective 
Questions		

	 I.	Read the passage given below and answer the 
questions that follow:

	 	The capital accounts of X and Y showed balance of  
` 40,000 and  ` 20,000 on 1st April, 2017. They shared 
profits in the ration of 3:2. They are allowed interest 
on capitals @10% p.a. and are charged interest on 
drawings @ 12% p.a. X also advanced a loan of  
` 10,000 to the firm on 1st august, 2017.

	 	During the year, X withdrew ` 1,000 per month at 
the beginning of every month while Y withdrew  
` 1,000 per month at the end of every month.

	 	The profits for the year ended 31st march, 2018 
before the above mentioned adjustments were  
` 20,910.

	 Q. 1.	How much interest will be charged on X’s 
drawings?

	 Ans.	Calculation of interest on X’s drawings:

		 = 12,000×
12
100

6 5
12

´
.

= ` 780

		 (Note: average period has been taken at 6.5 months 
because money was drawn at the beginning of 
every month)

	 Q. 2.	What interest will be charged on X’s loan?
	 Ans.	Calculation of interest on X’s loan:

		 10,000×
6

100
8

12
´ =` 400

		 [Note: If deed is silent regarding the interest on 
loan, a partner is entitled to take interest on loan 
@6% p.a.]

	 Q. 3.	Which account will be opened to distribute profit 
among partners after taking the above adjustments 
in accounts?

	 Ans.	Profit and loss Appropriation Account

Solutions for Practice Questions (Topic-1)

Multiple Choice Questions
		  Ans. 4. Option (A) is correct.
		  Ans. 17. Option (A) is correct.
		  Explanation: When only Partner's Capital Account 

is maintained all the adjustments are made in the 
Capital account itself and no separate account is to 
be opened for such thing.

Assertion and Reason
		 Ans. 6. Option (D) is correct.

Explanation: Partners share profit and losses 
equally only if provided by the partnership deed 
or there is no partnership deed.

Short Answer Type Questions-II
		  Ans. 2.
		  (i)	 Nominal partner
		  (ii) 	 Secret partner
		  (iii)	 Dormant partner
		  (iv)	 Active partner
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Solutions for Practice Questions (Topic-2)

Multiple Choice Questions
		  Ans. 3. Option (B) is correct.
		  Ans. 11. Option (D) is correct.
		  Explanation: Interest on Partner's Capital is the only 

one that is written in the Capital or Current account.

Assertion and Reason
		 Ans. 3. Option (B) is correct.

Explanation: The interest on capital is charged in 
accordance with the partnership deed, and if not 
mentioned it will not be charged.

Short Answer Type Questions-I
		  Ans 1.	 Profit & Loss Appropriation Account 
	 	 Dr.	  for the year ended 31st March, 2014 	

Cr.

Particulars Amount (`) Particulars Amount (`)

To Interest on Capital A/c :
      Jay’s Capital A/c 	 4,800
      Vijay’s Capital A/c    	 3,000 7,800

By Profit & Loss A/c 7,800

7,800 7,800

	Working Notes :

	 	 Calculation of Interest on Capital :
	 		  	            Jay	 =	 ` 80,000 × 9/100 =	 ` 7,200

	 		  	 Vijay	 =	 ` 50,000 × 9/100 =	 ` 4,500

	 		  	 		                                 	 ` 11,700
	 	 But, 		 Profit earned	 =	 ` 7,800

	 		  	 Jay will get	 =	
`
`

 
 
7 200
11 700

,
,  

× ` 7,800 = ` 4,800   

	 		  	 Vijay will get	 =	
`
`

 
 
4 500
11 700

,
,  

× ` 7,800 = ` 3,000

Ans. 5.	 In the books of A, B and C 
Profit and Loss Appropriation Account

Dr.		 for the year ended 31st March, 2019	 Cr.

Particulars Amount (`) Particulars Amount (`)

To Interest on Capital : By Profit & Loss A/c (Net Profit) 3,00,000
	 A 	 		  12,000 By Interest on Drawings :
	 B 	 		  9,600 	 A	 	� 1,200
	 C	 	  	  10,500 32,100 	 B	 	  �    900 2,100
To Profit transferred to Partners' 
     Capital A/cs:
	 A	  		 90,000
	 B 	 		  90,000
	 C 	 		   90,000 2,70,000

 3,02,100  3,02,100

	 Statement Showing Adjustment of Profit 

Particulars A’s (`) B’s (`) C’s (`)

Credited Short for Interest on Capitals 12,000 9,600 10,500

Debited Short for Interest on Drawings (1,200) (900) —

Credited Excess as share of profit (10,000) (10,000) (10,000)

Net Effect 800 (1,300) 500
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Journal Entry

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

B’s Current A/c	 Dr.
To A’s Current A/c	
To C’s Current A/c

(Being adjustment entry passed)

1,300
800
500

Short Answer Type Questions-II
		  Ans 2.	 In the Books of A and B 

Journal

    

Date Particulars L.F. Amount Dr. 
(`)

Amount Cr. 
(`)

A's Capital A/c	 Dr. 140

	 To B's Capital A/c 140

	(Ommissin of interest on capital, now rectified)

		 Working Note :	
Table Showing Adjustments

Partners
Interest on 
Capital Cr.

(`)

Interest on 
drawings Cr.

(`)

Profits Dr.
(`)

Net Effect 

Dr. (`)  Cr. (`)

A 10,000 4,500 14,640 140 —

B 7,500 2,400 9,760 — 140

17,500 6,900 24,400 140 140

Note : If an examinee has calculated Net effect by any other method, full credit be given :

		 Calculation of Interest on Capital :
	 Calculation of Opening Capitals

Particulars L. F. A (`) B (`)

Closing Capital 1,65,500 1,27,600

Add : Drawings 60,000 40,000

Add : Interest on Drawings 4,500 2,400

Less : Share of Profit (30,000) (20,000)

 Opening Capital 2,00,000 1,50,000

Interest on Capital @5% p.a. 10,000 7,500
		   Interest on Drawings :

			  A	 = ` 60,000 × 
12
100

7

12

1
2� = ` 4,500

			  B	 = ` 40,000 × × =
12 6

2, 400
100 12

` 	

	Ans 6.	 Divisible Profit will be = ̀  1,00,000 – General Reserve (` 10,000) – Salary (` 30,000) – Interest on Capital (` 24,000)  
                                                    = ` 36,000
	 	Profit wrongly distributed :
	 		 Praveen = ` 1,00,000 × 3/5 = ` 60,000
	 		 Sahil = ` 1,00,000 × 1/5 = ` 20,000
	 		 Riya = ` 1,00,000 × 1/5 = ` 20,000
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Table Showing Adjustments

Particulars Praveen (`) Sahil (`) Riya (`)

(a)  Profit wrongly distributed 60,000 20,000 20,000

(b)  Should be done :

Interest on capital 10,000 8,000 6,000

Salary 18,000 — 12,000

Profits (36,000) in ratio 3 : 1 : 1 21,600 7,200 7,200

49,600 15,200 25,200

Difference (a – b) 10,400 
(Dr.)

4,800 (Dr.) 5,200 (Cr.)

Journal Entry

Date Particulars L.F.
Amount Dr. 

(`)
Amount Cr. 

(`)

Praveen’s Current A/c	 Dr. 
Sahil’s Current A/c	 Dr.

To Riya’s Current A/c 
To General Reserve

(Being error rectified)

10,400

4,800
5,200

10,000

Long Answer Type Questions - I
Ans 2. 	 In the books of Sonu and Rajat 

Journal Entry

Date Particulars L.F.
Debit

Amount (`)
Credit

Amount (`)

Profit and Loss A/c 	 Dr. 4,89,950
	 To Profit and Loss Appropriation A/c 4,89,950
(Being profit transferred from Profit and Loss A/c to Profit 
and Loss Appropriation A/c)
Partner’s Salary A/c 	 Dr. 2,40,000
	 To Sonu’s Capital A/c 2,40,000
(Being Salary credited to Sonu's Capital A/c)
Profit & Loss Appropriation A/c 	 Dr. 2,40,000
	 To Partner’s Salary A/c 2,40,000
(Being Salary transferred to Profit and Loss Appropriation 
A/c)
Partner’s Commission A/c 	 Dr. 1,00,000
	 To Rajat’s Capital A/c 1,00,000
(Being Commission credited to Rajat's Capital A/c)
Profit and Loss Appropriation A/c 	 Dr. 1,00,000
	 To Partner’s Commission A/c 1,00,000
(Being Commission transferred to Profit and Loss 
Appropriation A/c)
Interest on Capital A/c 	 Dr. 1,12,000
	 To Sonu’s Capital A/c 64,000
	 To Rajat’s Capital A/c 48,000
(Being interest on capital credited to Partners' Capital A/cs)
Profit & Loss Appropriation A/c 	 Dr. 1,12,000
	 To Interest on Capital A/c 1,12,000
(Being interest on capital transferred to Profit and Loss 
Appropriation A/c)
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Sonu’s Capital A/c 	 Dr. 400
Rajat’s Capital A/c 	 Dr. 1,650
	 To Interest on Drawings A/c 2,050
(Being interest on drawings charged)
Interest on Drawings A/c 	 Dr. 2,050
	 To Profit and Loss Appropriation A/c 2,050

(Being interest on drawings transferred to Profit and Loss 
Appropriation A/c)
Profit and Loss Appropriation A/c 	 Dr. 40,000

	 To Sonu’s Capital A/c 24,000

	 To Rajat’s Capital A/c 16,000

(Being Profit credited to Partners’ Capital A/cs)

 Note : If combined entries have been passed for Partner’s commission, Partner’s salary, Interest on Capital and  
Interest on Drawings, no mark is to be deducted.

REFLECTIONS 

1.	 What is the use of profit and loss appropriation 
account?

2.	 What is guarantee to a partner?

3.	 What are the methods to compute goodwill?
4.	 Can you now already differentiate between fixed r/s 

functioning capital accounts.
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